Gas springs

for small
displacement and
high forces




b

%)

N\~

)

N\~

-

96,6 (2x)

| A=

— -]

I N |

2480.051.00150
M5 (4x)

W

Compact gas spring
Mounting variations

2480.053.00150

Q
=
0
TH

8W

Mounting examples:

subject to alterations

F238



Compact gas spring

Note:

Initial spring force at 150 bar = 420 daN

Worn gas springs cannot be repaired, they
have to be replaced completely.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 50 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2490.14.00420.
g 12

|#0,25

L]

11,5
[

| min.

/ﬂ

M
W

Valve

A
%> .

T
"

M6x5 deep ‘,fg

sl =
924,9 01
vQ‘eROV@o
Rk
Z n 0
Vo1t Flex Guide™
>max
2490.14.00420.
Compact gas spring
Order No Strokemax,  lmin. |
2490.14.00420.006 6 50 56
2490.14.00420.010 10 60 70
2490.14.00420.016 16 75 91
2490.14.00420.025 25 95 120
2490.14.00420.032 32 108 140
2490.14.00420.040 40 125 165
2490.14.00420.050 50 145 195
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00420. 20 006 010 016 025 032 040 050
T 140 19
1130 18
£ 10 o
%100 2 15 7 /
S 90 L 14 7
%’ 80 é 13 /
S 70 =12
60 11
50 10 P—= T T T T T
100 150 200 250 300 350 400 450 0 5 10 15 20 25 30 35 40 45 50
———————forcedaN ————— > stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F239

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.055.00150 2480.057.00150

Note:
68 2) Attention:
* The spring force must be absor-
o bed by the stop surface!
I £ [
T
~ I/EERE
iy ] * o
LN LA &
50 *
I7an) =)
& N
oo Il |}
( ) L [
Mounting examples:
+ . J :7‘:7 ! - E:gff:::, :17_
D —===i====
m* 4 %::::1::::4 71 1
i ] S
SR )
S A
o 3213
F240 subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 750 daN

Worn gas springs cannot be repaired, they
have to be replaced completely.

When mounting to floor, contact over the
entire floor of the cylinder tube must be
ensured!

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 50 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2490.14.00750.
L
%”1 — 320 |~—
—
o |
m
=== 73 T
VP
=
=< R1
Q»T \| M6 Valve
B )
4>¢3210,<—

vQ‘e\lOV@o
Slezarc“
e K]%j/\; n n
é
S>max V>max Psihax Flex Guide
2490.14.00750.
Compact gas spring
View X Order No Strokemax, Imin. | 8"
2490.14.00750.006 6 57 63 51
2490.14.00750.010 10 65 75 59
2490.14.00750.016 16 77 93 71
2490.14.00750.025 25 95 120 89
2490.14.00750.032 32 108 140 102
2490.14.00750.040 40 125 165 119
2490.14.00750.050 50 145 195 139
*see mounting example
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke -
150 .00750. 17 006 010 016 025 032 040 050
Tmo T 16
1130
8120 g1
£ 110 £ 14
2 100 =
% 90 g 13
& g0 § 12
S 70 N 11
60 ’ =
50 1,0
0 100 200 300 400 500 600 700 800 0 5 10 15 20 25 30 35 40 45 50
———————forcedaN ———— > stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F241

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.052.01000 2480.022.00250
©38,2 01

55—

I

2480.057.00250

Note: Mounting Example:
74 . i 2) Attention:
* ? 25 ——- The spring force must be absor-
i }f bed by the stop surface!
&4 i) *3 pite LOTNG
s ATy R \_ /%1
'S il M ** ﬁ + ‘ -~ 43 -~ *
95
* £ 9(2x)
54 * F"L:J’:ﬁ ‘ ‘(
@ o) = T fof ©
29 1| At* 7}7 with Adapter Baseplate

see Note! ' with Adapter Baseplate

F242 subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 1000 daN

Order No for spare parts kit: 2490.14.01000

When mounting to floor, contact over the

entire floor of the cylinder tube must

beensured!

Before fitting the adapter base plate remove

the valve from the gas spring.

If vibration occurs, tighten the fixing screws

accordingly.

Pressure medium: Nitrogen N,
Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:

approx. 100 (at 20°C)
Max. piston speed: 0.8 m/s

2480.00.20.01000

Adapter baseplate with connecting fitting,
without valve (only for use with composite

connections)

M6 (2x)

p (2¥)

11 x 6,9 dee|

20-02
!
)
2
f

*27‘<7_
o
4l L

|
G/s

—=| 038101 ‘<—

Initial spring force
versus charge pressure

M6 x 20 deep (2x)
DIN EN ISO 4762

2490.14.01000.
[
S 820
8lwy — =
[ N=)
= (29}
e
g
1 1
Q-T _| M6 Valve
—
4>¢38ﬂ),1‘<7

bx

vQ‘e\lOV@o
9)/@1é
e K]{%;/\; ||£u
<
S>max | V>max P>max | HexGuide
2490.14.01000.
Compact gas spring
Order No Strokemax. Imin. | gZ*
2490.14.01000.006 55 61 49
2490.14.01000.010 10 68 78 62
2490.14.01000.016 16 84 100 78
2490.14.01000.025 25 110 135 104
2490.14.01000.032 32 135167129
2490.14.01000.040 40 155195149
2490.14.01000.050 50 180230174

*see mounting example

Spring force Diagram displacement versus stroke rise

nominal stroke -
150 .01000. 15 006 010 016 025 032 040 050
T 140
1130 14
&120 5
¢ 110 & 13
=3 L)
2100 2 /
E o
a 90 5 12
& 2
5 80 g
S 70 =11
60 / %
50 10 T T T T T T
0 250 500 750 1000 0 5 10 15 20 25 30 35 40 45 50
force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
F243

subject to alterations

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.052.1.01800

350,401
€ R

2480.022.00750

p

6,5

I

75—

2480.058.0075

Note:

2) Attention:
The spring force must be absorbed
by the stop surface.

~—90—=
p——
2its 7
‘SV"’W K/Eh“ ;
* 12?60» I
1 Fi: 'J:a ‘9 2@
2 J[car} @MI
* 110

2480.044.03.007502

90
1
e a2 I
2 WEEEH
? Hi H ”‘* @
68 ‘ *
|
I7an) )
& S
pra |l [}
018 | |

Mounting Example:

with Adapter Baseplate

Mounting examples:

|———————
3
S

see Note!

= 50,2 52—

with Adapter Baseplate

F244

subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 1800 daN
Order No for spare parts kit: 2490.14.01800

When mounting to floor, contact over the
entire floor of the cylinder tube must
beensured!

Before fitting the adapter base plate remove
the valve from the gas spring.

If vibration occurs, tighten the fixing screws
accordingly.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 50 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2480.00.20.01800

Adapter baseplate with connecting fitting,
without valve (only for use with composite
connections)

11 x 6,9 deep (2x)
6,6 (2x)
DIN 74 - Km 6

Screws (%)

M6 x 20

DIN EN ISO M6 x 11,5
4762 (2x) deep (4x)

$50,2 0.1

'« Connecting
fitting, rotating
|

Initial spring force
versus charge pressure

2490.14.01800.
2
g n — 330 |~—
Ol
— m‘
T st
| s
LV 3. &5
gT | G¥/s Valve
B |
¢50,2 *01

SRk
e K]{%;/\; ||£u

<
S>max Vgx P>Emax Fle)gew

2490.14.01800.

Compact gas spring

Order No Strokemax, Imin. | 82"
2490.14.01800.006 6 60 66 52
2490.14.01800.010 10 70 80 62
2490.14.01800.016 16 90 106 82
2490.14.01800.025 25 110 135102
2490.14.01800.032 32 130 162 122
2490.14.01800.040 40 150 190 142
2490.14.01800.050 50 170 220 162

2490.14.01800.065

65 206 271 198

*see mounting example

Spring force Diagram displacement versus stroke rise

nominal stroke -
150 .01800. 16 006 010 016 025 032 040 050 065
T 140
1130 15
8120 g 14
¢ 110 &
=3 L)
2 100 £ 13
3 90 v / /
@ =3
5 80 é v / /
<= a
S 70 11
60 Y %
50 10 T T T T T T T T
0 500 1000 1500 2000 0 5 10 15 20 25 30 35 40 45 50 55 60 65
force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F245

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.022.01000

. e)l‘l (4x)

2480.057.03.01000 2480.057.0100

2480.064.010004

A_A | N T
M6 (2x) 108 i
~
T 2 A
a I/ERRP
PN LA #
t 2 *
84 *
Ian) o
&) O =
p11 | |4
Q o8| |

Note:

2 Attention:
The spring force must be absor-
bed by the stop surface!

4 Square collar flange, non-ro-
tating, fixing for composite
connection.

5) Machine screws with hexa-

gonal socket (compact head
recommended)

Mounting Example:

with Adapter Baseplate

stroke
—— é

——

— 63,2 155

C
= prlommmnl o
F:\EEE}}EL:ﬂ %:::::::::4
s 7/
| | T W

= 63,2 58—
see Note! ° o3

with Adapter Baseplate

11.2014

subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 3000 daN
Order No for spare parts kit: 2490.14.03000

When mounting to floor, contact over the
entire floor of the cylinder tube must
beensured!

Before fitting the adapter base plate remove
the valve from the gas spring.

If vibration occurs, tighten the fixing screws
accordingly.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2490.14.03000.

f e
g%
- k2

i G1/s Valve

$63,2 0.1

£
Ik

4X

vQ‘e\lOV@o
2480.00.20.03000
Adapter baseplate with connecting fitting,
without valve (only for use with composite P /
connections) - Z )%\; 1 l
15x12 2 =~ - Y
5X 'S‘L%p (2x) S>max V>max Psihax Flex Guide
9 (2x) = = =
OIN 74 - K 8 2490.14.03000.
Screws (2x) Compact gas spring
M8 x 16 M8 x 115 .
DIN EN ISO g X ™ View X Order No Strokemay, Imn. | g2*
4762 (2x) eep (4x) 2490.14.03000010 10 75 85 65
2490.14.03000.016 16 87 103 77
2490.14.03000.025 25 105 130 95
*‘(663,2 01 2490.14.03000.032 32 118 150 108
056 Connectin 2490.14.03000.040 40 135175125
Gl/s r fitting, rotating 2490.14.03000.050 50 155 205 145
] i 2490.14.03000.065 65 191 256 181
= J N *see mounting example
2
wf
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .03000. 17 010 016 025 032 040 050 065
TMO T 16
1130
8120 g1
£ 110 €14
100 g
S 90 g 13
S 70 N
60 B
50 1'0 1 1 U U U 1 1 !
0 500 1000 1500 2000 2500 3000 0 5 10 15 20 25 30 35 40 45 50 55 60 65
——forredaN ——» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F247

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.052.04700 2480.022.01500

2 75,2 01 2
Q Q

0—=
3'5 |
I

‘ 7

th

| E&%N
| —
1811 (4x)

2480.058.01500

lﬁ

2480.044.03.015002 2480.044.015002 Note: Mounting Example:
125 ~—115 — 2 Attention:
* 1525 = . The spring force must be absor-
~ A b bed by the stop surface!
T SeEs * ™ i Um il
n e
f ] jig TE*I\‘;‘ K/;h\\ L
S ‘ ~ i il N
1| i o Pl s
+ 160
7 11(29)
t=—100 —= -
+ B
© o = Riof[ [ 1Qf6}
9135 t* 1‘37 with Adapter Baseplate

( ) 920

Mounting examples:

o

—~ 75,2 155
see Note! ° o3 with Adapter Baseplate

F248

subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 4700 daN
Order No for spare parts kit: 2490.14.04700

When mounting to floor, contact over the

2490.14.04700.

entire floor of the cylinder tube must %
beensured! ;é
Before fitting the adapter base plate remove [ —— 950 |=—
the valve from the gas spring. @ -
If vibration occurs, tighten the fixing screws %
accordingly. T ? ] i R1s
Pressure medium: Nitrogen N, s £
Max. filling pressure: 150 bar ¢ ¢ OL ! LR35
Min. filling pressure: 25 bar | 2
Working temperature: 0 C.to +80°C . * Gz Valve
Temperature related force increase: + 0.3%/°C —
Max. recommended extensions per minute: —=1 75,2201 L
approx. 80 to 100 (at 20°C)
Max. piston speed: 0.8 m/s
bx
V??ROV%
2480.00.20.04700
Adapter baseplate with connecting Fitting
Iz Iz | I
15 x 9 deep (3x) == = ],
] ‘*9(3)() S>max V>max Psihax Flex Guide
DIN 74 - Km 8
53 voxodey  2490.14.04700.
ccrews M8 x 11,5 deep (4x) Compact gas spring
II;)AI?\I)EIZ\IOISO (4x) View X Order No Strokemay, Imin. | 8
4762 (3%) 2490.14.04700.010 10 70 80 60
X 2490.14.04700.016 16 90 106 80
2490.14.04700.025 25 110 135 100
5752 901 2490.14.04700.032 32 135 167 125
e Connecting 2490.14.04700.040 40 160 200 150
[~ P68 ing rotofin 2490.14.04700.050 50 190 240 180
ﬁl/L/ " & 8 2490.14.04700.065 65 208 273 198
w 7 S| + *see mounting example
00 i o
o
T GY/s
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .04700. 15 010 016 025 032 040 050 065
T 140
1130 14
8120 153
£ 110 £ 13
& 100 2 /
S 90 g 12
® 8o 8 / //
S 70 =11
60 %
50 10 T T T T T T T T T
1000 2000 3000 4000 5000 0 5 10 15 20 25 30 35 40 45 50 55 60 65
force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
F249

subject to alterations

FIBRO



FIBRO

Compact gas spring
Mounting variations
2480.052.07500 2480.022.03000
Q 995,2 10,14 Q
et »
o
f 7
| e 1
I
|
]
—
1
2480.058.03000
::ﬁ
M6 (4x) | 2y
B -
— X
X P
g !
O T
2480.044.03.030002 2480.044.030002 Note: Mounting Example:
[~ 145 — 2 Attention:
0 [¢]
14 * 675 = L The spring force must be absor-
- T A b bed by the stop surface!
I {L_Ip g m m U"Q [
wn
o A1 Ths | Hegs JCT AL 4
C i 18 S
V[ i .ﬂ 1 <90~ |1
- * 195
7 13(2%)
115 —=f <X
i A —— ﬂﬁ
© o) = TM o[e]
913,5 At* 1‘70 with Adapter Baseplate
20 =

¥

Mounting examples:

— 95,2 153

see Note!

with Adapter Baseplate

F250

subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 7500 daN

Order No for spare parts kit: 2490.14.07500

When mounting to floor, contact over the
entire floor of the cylinder tube must

beensured!

Before fitting the adapter base plate remove
the valve from the gas spring.
If vibration occurs, tighten the fixing screws

accordingly.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2480.00.20.07500

Adapter baseplate with connecting Fitting

15 x 9 deep (3x)

9%
DIN74-Km 8
(3%)

2490.14.07500.

g
g\ —= @65 |=—
e I
t ? N Rls*
2 £
R
* __|GY/s Valve
—1 p95,2:02 -

bx

LAk
Z K]%j/\; Ml Ml
_
Somax vgx Pomax Flegew
2490.14.07500.

Compact gas spring

Screws M8 x 11,5 deep
M8 x 20 (4x) View X Order No Strokemax, Imin. | 8
DINEN ISO 2490.14.07500.010 10 80 90 68
4762(3x) 5y |l 2490.14.07500.016 16 100116 88
2490.14.07500.025 25 120 145 108
2490.14.07500.032 32 150 182 138
. 2490.14.07500.040 40 170 210 158
| cornecire 2490.14.07500.050 50 205 255 193
A o g g 2490.14.07500.065 65 214 279 202
“'&7 o *see mounting example
S
of t
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
150 .07500. 15 010 016 025 032 040 050 065
T 140
1130 14
120 g
£ 110 £ 13
% 100 2
S 90 212 /
& g g = |
S 70 =11
60 / = |
50 110 T T U U U T
2000 3500 5000 6500 8000 5 10 15 20 25 30 35 40 45 50 55 60 65
—————————force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
F251

subject to alterations

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.052.11800 2480.022.05000

9120,2 10,14 { )

RARRRNRRNRNNY n
EOUN NN o ——
~ |
* 1
mn
S o -
- O
L\—i

I ~N
| —
913 (4x
2480.057.05000
-
2y 2 Attention:
"‘A The spring force must be absor-
m bed by the stop surface!
! 4 Square collar flange, non-
rotating, fixing for composite

connection.

5) Machine screws with hexa-
gonal socket (compact head

recommended)
2480.064.050004 2480.044.03.050002 Mounting Example:
A-A =
170 *
i o0
* £y us: BT
nTT o
S
P s
wn
v ®
145 — | !
Ifan) )
& S ™
/ 13,5 <$+ with Adapter Baseplate

stroke
—— <§

o

—0120,2 5=

—120,2 153 .
see Note! ° o3 with Adapter Baseplate

11.2014 subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 11800 daN
Order No for spare parts kit: 2490.14.11800

When mounting to floor, contact over the
entire floor of the cylinder tube must
beensured!

Before fitting the adapter base plate remove
the valve from the gas spring.

If vibration occurs, tighten the fixing screws
accordingly.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2490.14.11800.

| [ £0,25 — |

stroke max
| | max.
) 22,5

————

—= ¢80 |=—

I min

T | e —]

22,5

G1/s Valve

—| 1202101 -
by

vQ‘e\lOV@o
2480.00.20.11800 S@mr&
Adapter baseplate with connecting Fitting
Iz Iz | I
18 x 11 deep (4x) = :
11 S>max | V>max P>max | HexGuide
Screws
DIN 74 -Km 10
M10 x 20
M10x20 ) 2490.14.11800.
4762 (4x) Compact gas spring
Order No Strokemax, Imin. | 82°
2490.14.11800.010 10 90 100 78
2490.14.11800.016 16 110 126 98
2490.14.11800.025 25 130 155 118
2490.14.11800.032 32 155 187 143
$120,2 01 2490.14.11800.040 40 180 220 168
112 = ) 2490.14.11800.050 50 210 260 198
cve | ]E°’?”eCt'” i 2490.14.11800.065 65 255 320 243
4 |tt‘|_'ng, rotating *see mounting example
ERp
©
(o]
o
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
150 .11800. 16 010 016 025 032 040 050 065
T 140
1130 15
8120 £,
g 110 &
& 100 213
S 90 g
% go g 12 /
S 70 s 11
60 zZ——
50 10
3000 5000 7000 9000 11000 0 5 10 15 20 25 30 35 40 45 50 55 60 65
——forredaN ———» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F253

FIBRO



FIBRO

Compact gas spring
Mounting variations

2480.052.18300 2480.022.07500

9150,2 s01_ P
= @ Q

190 =
138 =

il

I ~N
| —
817,5 (4x)
2480.057.07500
= Note:
2 Attention:
The spring force must be absor-
bed by the stop surface!
4 Square collar flange, non-
rotating, fixing for composite

connection.

5) Machine screws with hexa-
gonal socket (compact head

913,5

@ '™l »» |0 ="

with Adapter Baseplate

recommended)
2480.064.075004 2480.044.075002 2480.044.03.075002 Mounting Example:
AR s 200 |
Q et * o T
of bn il o4 e T S .
Ro 3 n T RN S S—
§ 817 3 o w w
. <|il i~ 8| | |
[ i
f—175 —
e BI—ek] *
210 lan) o
Fab N 4 NZE
i WA *
RO o S

~0150,2 155

—~150,2 155~
see Note! ° o8 with Adapter Baseplate

11.2014 subject to alterations



Compact gas spring

Note:

Initial spring force at 150 bar = 18300 daN
Order No for spare parts kit: 2490.14.18300

When mounting to floor, contact over the
entire floor of the cylinder tube must
beensured!

Before fitting the adapter base plate remove
the valve from the gas spring.

If vibration occurs, tighten the fixing screws
accordingly.

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 0.8 m/s

2480.00.20.18300

Adapter baseplate with connecting Fitting
18 x 11 deep (4x)

‘ 11 (4x)

DIN74-Km 10

M10 x12,5 deep

2490.14.18300.
? o~ — m%
I — —
@T G1/s Valve
h —9150,2 ﬂ”——‘
by
M10 x 11 deep
(4x)

oA
%4 Kj%;/\; u»&u
é = ™
S>max | V>max | Pomax Flege
2490.14.18300.

Compact gas spring

Order No Strokemax, Imin. | 82*

Screws (4x) 2490.14.18300.010 10 100 110 89
M10 x 20 2490.14.18300.016 16 120 136 109
DIN EN IS0 2490.14.18300.025 25 140 165 129
762 | 3 2490.14.18300.032 32 165 197 154
1502 101 2490.14.18300.040 40 195 235 184
- #1502 == 2490.14.18300.050 50 220 270 209
[=— 8142 —| Connecting 2490.14.18300.065 65 258 323 247
G1fs 1~ fitting, rotating *see mounting example
0
i1 ‘ s
o
o
o ays o |
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
150 .18300. 16 010 016 025 040 050 065
T 140
1130 15
g 120 é 1,4
g 110 &
100 § 1,3
S 90 L
go " § 12 /
S 70 s 11 /
60
50 10 T T T T T T T T T
6000 8. 10.. 12.. 14.. 16.. 18000 0 5 10 15 20 25 30 35 40 45 50 55 60 65
——fortedaN—— P stroke in mm »
Pressure rise factor accounts for displacement but not external influences!
F255

subject to alterations

FIBRO



FIBRO

F256

subject to alterations



lNuummm~mmmuutW“‘
R gsanicitung beachient v,,gﬁ
N ! Dg not high i
Ploasy open - prassure;
%g;k-m,mh”"wmnuwnkwwul &

Observar las instrucciones-

“A%nziona) pon aprire - P agt
h""’””wﬁwd"f!
"4;,,'::0«:!&1 No abrir - altd P

favor obsaryar 1as ‘

Gas springs

low build height

F257



FIBRO

F258

subject to alterations



Gas spring, with low build height

2480.13.03000.025

2487.12.04200.025

Normal construction Compact construction POWER LINE
= 1
o
E —
g
o
— o
[}
% B % B
2480.12.00250.025 * 2487.12.00500.025
" +
m m
— - _ wn
wn S |
o - 5
= T o
N o0
QY —_— QY —_— ) —_—
2480.12.00500.025 2485.12.00500.025 2487.12.00750.025
]
n
<
n
)
o
o
—
2487.12.01000.025
: !
O
o
O
—
2
—
2485.12.01500.025
o
S

Construction heights
with the same stroke

and the same /

increased spring force

subject to alterations

F259

FIBRO



FIBRO

Gas spring, with low build height
Mounting variations

2480.011.00500.2

im
f

‘/\,\,

—

=

915 (2x) M“% 915 (2x)

2480.011.00500

‘ A

YN
7% na

7

915 (2x)

2480.011.00500.1

2480.022.00500

=1

70—
50

2480.044.03.00500

2)

80

1
o
T [ 1) [
2110 Uifig
3 T * n
1 {on Y R
60 ‘ +
1
Ian) o
&J &5 o~
09 I |}
915 .

2480.044.005002

— 28

k644>‘

/

2480.010.00500.095 3

@ -
B
k=il
]
L (o)}
N Y
|
';* \ T AR
e
—= 455 ==

|~ 64—

2)

w

=)

)

Note:

Attention:
The spring force must be absor-
bed by the stop surface!

Not for use with composite
connection.

Square collar flange, non-ro-
tating, fixing for composite
connection.

Machine screws with hexa-
gonal socket (compact head
recommended)

11.2014

subject to alterations



Gas spring, with low build height

Note:

Initial spring force at 150 bar = 470 daN
Order No for spare parts kit: 2485.12.00500

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 50 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 40 to 80 (at 20°C)

Max. piston speed: 1.6 m/s

2485.12.00500.

920

|£0,25

Stroke may. |[~e—
| e S—
15,5

|—
|
D)
——Kg
x
— ]
—

S
B
S)

p45,2 01

View X - Gas spring

M8x12,5
20 l=— deep (2x)

V??ROV%
T
%& Kl%j/\; ||£u
Vomax | Fomex | PO
2485.12.00500.

Gas spring, with low build
height

Order No Strokemax.  min. |
2485.12.00500.006 6 56 62
2485.12.00500.013 12.7 62.7 754
2485.12.00500.019 19 69.1 881
2485.12.00500.025 25 75 100
2485.12.00500.038 38.1 88.1 126.2
2485.12.00500.050 50 100 150
2485.12.00500.063 63.5 1135 177
2485.12.00500.080 80 130 210
2485.12.00500.100 100 150 250
2485.12.00500.125 125 175 300
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00500. 16 (006 013 019 025 038 050 063 080 100 125
T 140
1130 15
8120 153 14
£ 110 e
2 100 £ 13
o gg 2L
< 70 s 11 / /4////
60 114 e———
50 10 T T
100 200 300 400 500 0 10 25 50 75 100 125
———————forcedaN ———— > stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
03.2015

subject to alterations

FIBRO



FIBRO

Gas spring, with low build height
Mounting variations

2480.011.00750.3

&) H;/

2480.011.00750

©

n

———

Fs
il

7% na

(AT

g

M10 (2x)

2480.011.00750.1

)

It 27 T
DIN 74 -

Km 8 (4x) . -
. “ 56,5%
* o T ©

2480.022.00750

o BV
e i A
Tl A R
* I “(0‘15‘ T A

M10 T | |29 (4x)
(2x) ‘
75
ﬁse,si
r O
uf §* L5 T%
[Be=c f
2480.055.00750
:Zﬁ{
* )
o

=
y 50,2 +05

| — o —-

$50,2 155
—_— ]

2480.007.00750
@ [
; o
i
|

)
O/

\
&
—~ 61

2480.064.007504 2480.044.007502 2480.045.007502
A-A F- 7 ~—290
65
M5 (2x) 2y = 40 = _ T
‘ fam 3_EETT 7 Z *
N ﬁ i f :::J ! 8 .
~N 5 2” |_| * oo*ﬂ b "\*l&%l\
- Py e
;3#““‘?‘&/@"” ! - VR
HH I <
' 60 ! 345t = = —
~1=
70— oy i 9(2x) 2D [~
. “56,5>‘ = i ek »ﬁ = 201 55
o Rietl | ‘o ] 2
AF} * ' m bt /
"rl —-J o * m ] \
[¥e) ~ 110 A [
I AR  (i12=: R
/A 7 B —
Q@ A Q T @
2480.047.007502 = 2480.044.03.007502 Note:
Q 90 2) Attention:
* The spring force must be absor-
30— - bed by the stop surface!
718 h60ﬂ [ oy~ 3) Not for use with composite
U g* +* 32 \=r £ 1l Jig connection.
" 5 T n T 4 o
b ST Y i ] o Square collar flange, non-ro
=1 BHT 1 S bl é 1|k 7 R tating, fixing for composite
z — Y connection.
o 0 i
r‘-‘--i *S vy ‘ + 68 * 5 Machine screws with hexa-
2014 *& \i * gonal socket (compact head
o - o S ° recommended)
9115 % &2 N7 I
DIN 74 - Km 10 (2x) ) p11 | [}
DIN 74 - Km 8 (2x (] ) o18 | |

11.2014

subject to alterations



Gas spring, with low build height

Note:

Initial spring force at 150 bar = 750 daN
Order No for spare parts kit: 2485.12.00750

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 15 to 40 (at 20°C)

Max. piston speed: 1.6 m/s

2485.12.00750.
9 925
e - |——
s M6
n £
wn €
: i
801 -k}
T . —1 946 hk=—
£
- I 16,4
t gl 40
}
g
T 943 F=—
4»(2)50,2 £0,1

G /s valve

M8x12,5

dee

p (2x)

vQ‘QROV%
T
e K]{%;/\; n n
Vomax | Fomex | PO
2485.12.00750.

Gas spring, with low build
height

Order No Strokemax, lmin. |
2485.12.00750.006 6 56 62
2485.12.00750.013 127 627 754
2485.12.00750.019 19 69.1 881
2485.12.00750.025 25 75 100
2485.12.00750.038 381 881 126.2
2485.12.00750.050 50 100 150
2485.12.00750.063 63.5 1135 177
2485.12.00750.080 80 130 210
2485.12.00750.100 100 150 250
2485.12.00750.125 125 175 300
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00750. 16 (006 013 019 025 038 050 063 080 100 125
T 140
1130 15 / / /
8120 153 14
£ 110 e / /
2 100 £ 13
X 1Y/ ]
o gg gL
£ 5 s " %///
60 ! T
50 1,0 T T
150 300 450 600 750 0 10 25 50 75 100 125
forcedaN ——— 9> stroke in mm -
Pressure rise factor accounts for displacement but not external influences!
F263

subject to alterations

FIBRO



FIBRO

Gas spring, with low build height
Mounting variations

2480.011.01500

e [

I
I

f~=—100—
— 73,5 |=—
| I
'Jo T ols 0
wn
N =N
110 1 @ A
P! 9 9
o
N

——

o NER N
i
DIN 74 - Km 8 (4x) ES
DIN 74 - Km 10 (4x)

2480.011.01500.2

3 EXIT
bo9 (4x) |

2480.022.01500

@ i

2480.058.0150

2480.007.01500

2480.044.015002)
~—— llS"‘
——{ 52,5 |~
* ‘*f\'ﬂ]
st be [ TNE
- un
?Erm K/th i %
‘ =735
* 160 *

7 11 (2x)
—— ﬁ‘

e
@

©

v

1
o
[ L] «
o I/ERRE:
TN A
100 *
|
Ian) o
&2 S
i p13,5 1 |}
Q 020 |

2480.044.03.015002

125

Note:

2 Attention:
The spring force must be
absorbed by the stop surface.

F264

subject to alterations



Gas spring, with low build height

Note:

Initial spring force at 150 bar = 1500 daN
Order No for spare parts kit: 2485.12.01500

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 15 to 40 (at 20°C)

Max. piston speed: 1.6 m/s

2485.12.01500.

| 0,25

Stroke max.

G Y/s valve

=
3? 4x

—— ¢75‘2 +0,] |t—

View X - Gas spring

M8x12,5

deep (4x)

oA
&J‘? K]%j/\; ||£u

=
S>max Vgx P>Emax Fle)gew

2485.12.01500.

Gas spring, with low build
height

Order No Strokemax. Imin. |
2485.12.01500.025 25 85 110
2485.12.01500.038  38.1 98.1 136.2
2485.12.01500.050 50 110 160
2485.12.01500.063  63.5 1235 187
2485.12.01500.080 80 140 220
2485.12.01500.100 100 160 260
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .01500. 16 025 038 050 063 080 100
T 140
1130 15 /
8120 g 14
£ 110 £ /
2 100 £ 13
S 90 L
® g0 g 12
60 ' %
50 10 T T T
500 1000 1500 0 5 10 25 50 75 100
force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F265

FIBRO



FIBRO

F266

subject to alterations



nSpeed Control™,
Gas springs, SPC,
cushioned

F267



FIBRO

SPC gas spring, cushioned

YQVROI/@O

T

Description

FIBRO SPC gas springs »Speed Control™«
have been engineered to reduce or eliminate
blank holder bounce; commonly associated
with increased return stroke speeds form link
drive presses.

SPC gas springs have inbuilt return stroke
speed dampening, which decelerates the last
30 mm of piston rod stroke to 0.4 m/s, helping
to bring the blank holder to a smooth

stop.

Benefits of the »Speed Control™« SPC gas
springs, cushioned:

e Eliminates blank holder bounce

e Increases productivity by more increasing
part transfer efficiency.

Easily retrofitted to existing dies

e Stroke lengths 125 to 300 mm.

e Linkable using hose system.

F268

subject to alterations



SPC gas spring, cushioned

RO
Lo

T

Performance The diagram shows the max. possible number of strokes per
minutes [min-1] of SPC gas springs with a max. filling pressure
(150 bar) and max. used stroke lengths before there is a risk of
Strokes per minute, depending on stroke excessive heating.
length, at max. 150 bar charge pressure*
30
Note !
[ ]
o 1 The number of strokes per minutes can be doubled
|| 12486.12.00750. by halving the initial filling pressure.
///
20 - ;
| T | [ [—{2486.12.01500. Caution !
— | ////// SPC gas springs are subject to a higher heating
B —— [ —+—12486.12.03000. than standard gas springs.
’____———-——”/’ 2486.12.05000. For this reason, please ensure adequate ventilation
10 of the SPC gas springs in the tool.
5
0
125 150 175 200 225 250 275 300
trokelengthofSPCinmm — *At ambient room temperature with free air flow
Function example
Travel of blank holder per unit of time - »
300 +
o075 [Blank holder without SPC }—\/’ﬁ
250 [Blank holder with SPC — l// + 2
205 SPC reduces speed to 0.4 m/s ) Q
\ [Press speed 1.0 m/s }—\ l’/ B *
200 <
E 175 \ \/ 3
£ / IS
= 150 /
2 125 \ /
wv
100 \ /
75
= \\ //
25
0 \/ »Speed Control™«SPC gas springs gave a 90% reduction of
Timeins —— blank holder bounce.

Installation

Dampening length

It is important that approx. 25 to 30 mm before the sheet metal
retainer has reached its home position, only SPC gas springs are
applied. Therefore, for the retrofitting of existing tools with SPC
gas springs we recommend the following two options:

Option 1 —replace all gas springs with SPC gas springs

Option 2 — corner solution (see below)

Please note: Springs must be installed with a recess of 25 mm
to balance the total length difference

(2 x stroke length = 50 mm). Alternatively, the contact surface of
the sheet metal retainer can be recessed in order to achieve the
same effect.

subject to alterations

F269

FIBRO



FIBRO

Gas spring SPEED CONTROL, cushioned

Mounting variations
2480.011.01500 2480.011.01500.2 2480.022.01500
@ ] @ Lo @ ———
RN > —
Ve Ve
l”’ 73,5 ‘FS i4> 73,5 =
e T 0|2 1 i o }
" |
g lfelt ¢ 3 guld L
o~ ,\@Lja;\qj T i R W
* e 9 p11 (4x) LFQ |
DIN74-_§ ‘ o S g
Km 8 (4%) — R Aj | 1 ‘ N
o SRR S | N
=g || - 911 A Iy o1 211 (4%)
DIN 74 - Km 10 (4x) 218 (4x)
2480.055.01500 2480.057.0150 2480.007.01500 2480.008.015003)
::ﬁ[  —
2y M6 (4x)
- i =
(o)}
o —
. . ! o
= T - Sy
y 75,2 +05 9 75,2 +05

Q

2480.064.01500 2480.044.015002 2480.045.015002)
A-A =

Q
=] ~— 115
M6 (2x) £y e - %o 4
— T E4+ 7 W
a8 il i - ki J1E

2 <
~=73,5= ——143 5 l=— | =
160 10
l~—090—=—| © £ 11 (2x) 13? -
735 o~ * l l " ﬁ4 1 | |—— 32
R il

28
’ i |
10,5/~ | ) J[GJ[ i j@ ! H.Tl —%}ﬁ
o Al ; * 137 5 A
'\v J@ + 7777‘7% A JH»:: L

2480.047.015002 . : 2480.044.03.015002 Note:
125 2 Attention:
—= 35 |~ * The spring force must be
. 21*‘ 90 ~ absorbed by the stop surface.
L 120 JjBSj* [ oy " 3 Note:
ﬂ* * . i == Ji & Not for use with composite
0 = + S ‘TT‘@{ { * 'S H U connection.
sl ] ,,i bl RHPSHE B o i 4 Square collar flange, non-
—+ ”Tm ~ 1T * * rotating, fixing for composite
Wid s connection.
* 1001 |~—100 —= *
=T = \i 5) Machine screws with hexa-go-
A | o AR o nal socket (compact head
914,5 kA &7 N ™ recommended).
DIN 74 - Km 12 (2x) ) p135 ]| [ 1
DIN 74 - Km 8 (2x (& | 220 | |

11.2014 subject to alterations



Gas spring SPEED CONTROL, cushioned

Note: 2486.12.00750.
Initial spring force at 150 bar = 750 daN
Order No for spare parts kit: 2486.12.00750 ‘ ‘ M8
. . o~
Pressure medium: Nitrogen N, + H&
Max. filling pressure: 150 bar
Min. filling pressure: 25 bar . }
Working temperature: 0°C to +80°C £
Temperature related force increase: + 0.3%/°C %
Max. recommended extensions per minute: s B
approx. 16 to 24 (at 20°C) £
Dampening length: ~ 30 mm +
Piston rod speed, decelerated: 0.4 m/s ¥ e
f s
= | 370 =
16,4
! j, I
<! Ax ol
—=—| 75,2 01 |=—

View X - Gas spring

RO
o
K
Iz 2
-
~ -
S>max V>max P>max
= =

2486.12.00750.

Gas spring SPEED CONTROL,

cushioned
Order No Strokemax, lmin |
2486.12.00750.125 125 235 360
2486.12.00750.160 160 270 430
2486.12.00750.200 200 310 510
2486.12.00750.250 250 360 610
2486.12.00750.300 300 410 710
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 750 13 125 160 200 250 300
T 140
1130
8120 g1
£ 110 e
2 100 2
5 90 g ///
& 2 11
z 32 g ——
60
50 1'0 U ! 1 1 1
200 300 400 500 600 700 0 10 25 50 75 100 125 150 200 250 300
———————forcedaN ———— > stroke in mm -
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F271

FIBRO



FIBRO

Gas spring SPEED CONTROL, cushioned

Mounting variations

2480.011. 03000
& -
|— 120;»‘

"92*
o | o
s
BB i+

2 O

M20

~92

S
N
o

T

4>H¢|—|
e+

f Mﬂg

|——

13

2480.011.03000.2

2480.022.03000

120
92

;

2480.055.03000

::ﬁ[

S
&1
: i
m
m
_ 1

N y
y 995,2 +05 x

2480.057.03000

) o_”f\“o é
e Y
—~=— 130—
170

2480.044.030002 2480.045.030002
~— 145
110
W i BP0 %Q_‘Q}*
; i —
el isok
i n | O 3 = :4,,#‘ 2 Z
* o v T K /JE I TA 3* + : *
* ‘ 19;90> * ——146,5 <ﬁ — 1001
=110 o ] B 135.°%0
—s| bl = I
12,5 . Nl
g | e Nl
o = = f 170 I \
[l A | k-
1K oI - ! |i==:2 )
/A VAN I Y S N i S—
Q@ A Q 77 @
2480.047.03000? . : 2480.044.03.030002 Note:
140 2) Attention:
40 |~ * The spring force must be
*26*‘ 110 o T absorbed by the stop surface.
L] e24 "63 5" [y o A 3) Note:
"._.“* * bty . Ji = Not for use with composite
0 ),1 O | ) 3 H n connection.
o LA 0 9
S v b8 A E o i @ ¢ 4 Square collar flange, non-
* o b * rotating, fixing for composite
il [ s V connection.
ink 10+01 «—115— *
= O == \i 5) Machine screws with hexa-go-
mn
A l— o A o nal socket (compact head
914,5 I &7 7 recommended).
DIN 74 - Km 12 (2x) ) p135]] [}
DIN 74 - Km 8 (2x (& | 220 | |

11.2014

subject to alterations



Gas spring SPEED CONTROL, cushioned

Note:

Initial spring force at 150 bar = 1500 daN
Order No for spare parts kit: 2486.12.01500

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 14 to 19 (at 20°C)

Dampening length: ~ 30 mm

Piston rod speed, decelerated: 0.4 m/s

2486.12.01500.

12

ST
<
e <
& 'éi
m
1. f
e
T ~=—p90 —=
E
—— 1<6ﬁ
<38
W
f ‘x A1 7
—
|~ 987 = P Iz )%?
—— ¢95,2 0,1 | —— ~

S>max V>r-nax
=

2486.12.01500.

View X - Gas spring

o
Y

I3
Q
x

Gas spring SPEED CONTROL,

cushioned
Order No Strokemax.  Imin. |
2486.12.01500.125 125 245 370
) 2486.12.01500.160 160 280 440
G M8x13 2486.12.01500.200 200 320 520
60 deep (4x) 2486.12.01500.250 250 370 620
2486.12.01500.300 300 420 720
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 1500 13 125 160 200 250 300
T 140
1130
8120 $ 1
£ 110 £
& 100 2
g % g /
& g0 g 1t
S 70 s
60
50 10 T T T T T
400 600 800 1000 1200 1400 1600 0 10 25 50 75 100 125 150 200 250 300
——forredaN ———» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F273

FIBRO



FIBRO

Gas spring SPEED CONTROL, cushioned

Mounting variations

2480.011.05000

® L

/s

| 1095 (72
o N‘

W
s 8 |1

9

2480.011.05000.2

2480.022.05000

i

140—
109,5 =

il
&3

2480.055.05000 2480.057.0500

:Zﬁ[ :Zﬁ

o o
&Y &1
- i — i
O O
m [ m
Y N Y

y 7 120235 I~ $120,2 335 W
[~ 130 } P :
-1 109,5 [~ A
%f | 4 2 () o) o
2 1Y ﬁ% o [N !
- =] ,‘% é = ~— 155
( ) [ 1 205
2480.064.05000% 2480.044.050002 2480.045.050002
A-A = =— 165

77,5 =

140
| -0 RS
) ! <
< o Nl é ~
— 0\*-—1 e
~ - l& ‘
1 K /JELI‘ ! L er* e
Ll o * A < 10+O,1
— 102,5 <F* - 48 t |=— | |
220 11,5
n AN
130 ‘ 13 (2x) 28|
o125 2 ) iy Y 365
912,5 :
I @JFHI * L' R
mj AB} o ' 00 1 /
o = m 195 ol P I
S A 1| - ] 2R /
/A 7 i —
@ = Q 77 @
2480.047.05000? . : 2480.044.03.050002 Note:
2 Attention:
—=—| 50 ‘¢ * * The spring force must be
absorbed by the stop surface.
——136/=— 130 U T
17 1926 ftss gj, " 1) I | ) Note:
""i ! o : Ji < Not for use with composite
™~ * ~N ; —
A HO | | | ‘ A connection.
sl P I'g S 1IN
s P * @ HH 4 Square collar flange, non-
A e .
© * * rotating, fixing for composite
r: = *ﬂ V connection
T s 10+01 [~=—145 —= * :
- = o = \i 5) Machine screws with hexa-go-
11—1 — o Va o nal socket (compact head
©17,5 I \& N ™ recommended).
DIN 74 - Km 16 (2x) p135]] [}
DIN 74 - Km 10 (2x (] ) 920_| |

11.2014

subject to alterations



Gas spring SPEED CONTROL, cushioned

Note:

Initial spring force at 150 bar = 3000 daN
Order No for spare parts kit: 2486.12.03000

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 10 to 13 (at 20°C)

Dampening length: ~ 30 mm

Piston rod speed, decelerated: 0.4 m/s

2486.12.03000.
120 s
P
T
) mf & *
i N =115 =
16,4
+ £
E’A ‘x ol *
0112 =
—— $120,2 01 l=—

View X - Gas spring

RO
o
K
Iz 2
-
~ -
S>max V>max P>max
= =

2486.12.03000.

Gas spring SPEED CONTROL,

cushioned
Order No Strokemax, lmin. |
2486.12.03000.125 125 265 390
. 2486.12.03000.160 160 300 460
G M10x13 2486.12.03000.200 200 340 540
(1x) deep (4x) 2486.12.03000.250 250 390 640
2486.12.03000.300 300 440 740
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .03000. 14 125 160 200 250 300
Tmo T
130
120 5 3
< b
£ 110 &
2 100 £ 12
S 70 i
60
50 10 ‘ ‘ ‘ )
800 1200 1600 2000 2400 2800 3200 0 10 25 50 75 100 125 150 200 250 300
——forredaN ———» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F275

FIBRO



FIBRO

Gas spring SPEED CONTROL, cushioned

Mounting variations

2480.011.07500

W

[ EA SR

2480.011.07500.2

2480.022.07500

190 =

o~
—

i
17,5 (4x)

2480.055.07500

J

stroke]

=~

— +2
9150,2+05

9150,2155

F—~—

2480.008.075003)

2480.064.075004
A-A -

200

g
g

- $150,5 |~

je——7175 —=|

|

Ian) o
&2 S
p13,5 1 |}

820 .

Note:

2 Attention:
The spring force must be
absorbed by the stop surface.

3) Note:
Not for use with composite
connection.

4 Square collar flange, non-
rotating, fixing for composite
connection.

5) Machine screws with hexa-go-
nal socket (compact head
recommended).

11.2014

subject to alterations



Gas spring SPEED CONTROL, cushioned

Note:

Initial spring force at 150 bar = 5000 daN
Order No for spare parts kit: 2486.12.05000

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 6 to 11 (at 20°C)

Dampening length: ~ 30 mm

Piston rod speed, decelerated: 0.4 m/s

2486.12.05000.

»ﬁsesm—s
T
T

) mf ~Rs *
i ER ~=— 145 —=I
16,4

Q il

10,|

—

hx

9150,2 *01

View X - Gas spring

S>max V>r-nax
=

2486.12.05000.

Pt o
0 e,
~— B
3 )%?
—
=

o
Y

I3
Q
x

Gas spring SPEED CONTROL,

cushioned
- Order No Strokemax. lmin |
2486.12.05000.125 125 280 405
. 2486.12.05000.160 160 315 475
G M10x13 2486.12.05000.200 200 355 555
(1x) deep (4x) 2486.12.05000.250 250 405 655
2486.12.05000.300 300 455 755
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .05000. 14 125 160 200 250 300
TMO T
130
F120 5 3
< b
2 100 £ 12
S 90 £ /
go 80 ﬁ /
S 70 a 1t
60
50 10 y T T T T
1600 2000 3000 4000 5000 0 10 25 50 75 100 125 150 200 250 300
——forredaN ———» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F277

FIBRO



FIBRO

F278

subject to alterations



Gas spring, DS
for Die Separation

F279



FIBRO

F280

subject to alterations



Gas spring, DS
for Die Separation

Description:

In line of reducing the set-up time while installing the tool in the press
there are used autonomous acted gas springs for tool spacing.

While using conventional gas springs they are activated with every press
stroke about the whole stroke length.

The new FIBRO gas spring, DS (Die Separation) have been developed especi-
ally for tool spacing.

Because of the slow return stroke speed, the gas spring DS does not need
the total stroke length.

The FIBRO gas spring, DS minimises unwanted friction in the tool, press
and in the gas spring itself.

Afurther benefit is that they use up to 80% less energy than "conventional”
standard gas springs.

Application example:

(0]
Y‘Q?R l/go
2T
Properties:
@ Initial spring forces of 3000 daN to 7500 daN
@ Stroke lengths of 125 mm to 300 mm
@ Standardised dimensions in accordance with ISO, VDI, CNOMO
@ Very slow return stroke speed compared to standard gas springs:
0,2 m/min.
@ Standard safety features (FIBRO Safer Choice)
- Safety piston rod
- Overpressure protection
@ High flexibility during fixing from the top mounting notch and lower

fixing groove, together with the tapped bores in the spring base

When using ,conventional” standard gas springs (such as 2480.13.05000.250) for creating spacing between the top and bottom parts of the tool, additional
initial forces of 20 t are exercised when each stroke is performed. This force may rise to up to 30 t at the end of the stroke (see diagram 1). When you use the
~new" gas springs, DS (for example, 2486.22.05000.250), the force in every stroke is reduced to less than 10% in the same application (diagram 2).

The return stroke speed in the gas springs, DS is very slow. The complete return stroke takes 1-2 minutes.

However, this slow speed does not have any negative impact on the end position (gas springs fully extended) of the return stroke at the end of production.
The piston rod is actuated oscillating up to 10% of the entire stroke, depending on the production rate.

Diagram 1

NN N/

Gas spring fully
extended

Tool closed

NLY,

| Tool spacing with "conventio-
nal" standard gas springs

subject to alterations

Diagram 2

Tool open
|

Gas spring fully
extended

Tool closed

| Tool spacing with
gas springs DS

F281

FIBRO



FIBRO

Gas spring DS
Mounting variations

2480.011. 03000

Q == 120

i‘ ;)@M@@é 1
Fﬁi&‘#{
020
+ Hd
m? i H_Lét
_||.e135

@ s

2480.011.03000.2

2480.022.03000

120
92+

f

2480.055.03000

= T

y\.

,,,_.‘,,, .
NSHN=

I P

(=110~ o
m

>
<&
ot
=110 =

Note:

3) Note:

Not for use with composite
connection.

4 Square collar flange, non-

rotating, fixing for composite
connection.

5) Machine screws with hexa-go-
nal socket (compact head
recommended).

11.2014

subject to alterations



Gas spring DS

Note:

Initial spring force at 150 bar = 3000 daN

Pressure medium: Nitrogen - N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C bis +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 20 to 50 (at 20°C)

Max. piston speed: 1.6 m/s

Max. return stroke speed: 0.2 m/min

2486.22.03000.

stroke max.

|~——

12

|———

—9% 5

g

| £0.25

| min.

24{=—

-

16,4

% J@ { X
3? ‘X co* * Tl
—
087 Z Iz | 0
—=! 952 0,1  |—— s - )%\/
V>max Psihax Flex Guide
2486.22.03000.
View X - Gas spring Gas spring DS
Order No Strokemax.  Imin. |
2486.22.03000.080 80 200 280
2486.22.03000.100 100 220 320
2486.22.03000.125 125 245 370
2486.22.03000.160 160 280 440
G /s Valve 2486.22.03000.200 200 320 520
(1x) 2486.22.03000.250 250 370 620
2486.22.03000.300 300 420 720
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .03000. 17 080 100 125 160 200 250 300
Tmo T 16
1130
8120 s 15
gllo % Le / / /
5100 ::: 15 % L // | |
?f 90 57 / L //
® g0 g 12 :/j — T
£ 7 = T
60 11— —
50 1,0
800 1200 1600 2000 2400 2800 3200 0 50 100 125 200 250 300
——forcredaN ——p stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
F283

subject to alterations

FIBRO



FIBRO

Gas spring DS

Mounting variations
2480.011.05000 2480.011.05000.2 2480.022.05000
G- @
S =
= 140 7
- 109,5 [+
T 0 T -
T t—== 1 |
&\ 8 + !
53 Lo
t R
=
T L?

2480.055.05000 2480.007.05000
- £l e ) M
=] i
M6 (4x) mX m N
O i !
N © 1
)
Qi H i 14,2

- +2
y 9120,2 +05 bd
A-A BEE==R

9,5

N

<Y
AWK}
f—130 =i

Note:

3) Note:
Not for use with composite
connection.

4 Square collar flange, non-
rotating, fixing for composite
connection.

5) Machine screws with hexa-go-

nal socket (compact head
recommended).

subject to alterations

11.2014



Gas spring DS

Note:

Initial spring force at 150 bar = 5000 daN

Pressure medium: Nitrogen - N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C bis +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 20 to 50 (at 20°C)

Max. piston speed: 1.6 m/s

Max. return stroke speed: 0.2 m/min

2486.22.05000.

stroke max.

| £0.25

| min.

15 =

16,4 ROV,
| "l r -~ SRk
. C
= ; * ZE
= 4x o P )
- 5112 = ﬁ/ )%\; 1] 1]
—— $120,2 01 |=— V>max Pomax | Flex Guide"
2486.22.05000.
View X - Gas spring Gas spring DS
Order No Strokemax.  Imin. |
2486.22.05000.080 80 220 300
2486.22.05000.100 100 240 340
2486.22.05000.125 125 265 390
2486.22.05000.160 160 300 460
G YsValve M10 x 13 deep 2486.22.05000.200 200 340 540
(1x) (4x) 2486.22.05000.250 250 390 640
2486.22.05000.300 300 440 740
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .05000. 17 080 100 125 160 200 250 300
Tuo T 16
1130 e
8120 153 15 = / —
v 110 & 1, AT LA A
g 100 k: A A A T |
S 90 g 13 A [
f,:_z, 20 é 12 //:/// L]
S 70 ~ L i
60 g —
50 1,0
1600 2000 3000 4000 5000 0 50 100 125 160 200 250 300
——forcredaN ——p stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F285

FIBRO



FIBRO

Gas spring DS
Mounting variations

2480.011.07500 2480.011.07500.2 2480.022.07500
T . B

L N

2480.055.07500
- T
M6 (4x) ‘“X
—
AN <
=1
S B i<
e’ +
y 150,2 35 N
A-A BRE=
$17,5 —— 138
—(4x
/ .
E
e’
X
2480.064.075004)

A-A fﬁ[

N

<Y
AR
162 =i

Note:

3) Note:
Not for use with composite
connection.

4 Square collar flange, non-
rotating, fixing for composite
connection.

5) Machine screws with hexa-go-

nal socket (compact head
recommended).

subject to alterations

11.2014



Gas spring DS

Note:

Initial spring force at 150 bar = 7500 daN

Pressure medium: Nitrogen - N,

Max. filling pressure: 150 bar

Min. filling pressure: 25 bar

Working temperature: 0°C bis +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 20 to 50 (at 20°C)

Max. piston speed: 1.6 m/s

Max. return stroke speed: 0.2 m/min

2486.22.07500.

stroke max.

27,5 |-

~— 9145 =
16,4
N L. )
- : : I il
2 Ix ol
! 1z le | !
= 9142 =~ ﬁ/ )%;\/
—— $150,2 01 |=— V>max Pomax | Flex Guide™
2486.22.07500.
View X - Gas spring Gas spring DS
Order No Strokemax,  lmin. |
2486.22.07500.080 80 235 315
2486.22.07500.100 100 255 355
2486.22.07500.125 125 280 405
2486.22.07500.160 160 315 475
G Vs Valve M10 x 13 deep 2486.22.07500.200 200 355 555
(1x) (4x) 2486.22.07500.250 250 405 655
2486.22.07500.300 300 455 755
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke -
150 .07500. 17 080 100 125 160 200 250 300
Tmo T 16
1130 P4
&120 5 15
g 110 k= 14 b ] —
§ 100 % N AN A L1 LT L
?" Zg 3 1,2 s :/ /////
< 70 s 1'1 72 44;://
60 ’ %/
50 1,0
2500 3500 4500 5500 6500 7500 0 50 100 125 160 200 250 300
————————forcedaN —————— > stroke in mm -
Pressure rise factor accounts for displacement but not external influences!
F287

subject to alterations

FIBRO



FIBRO

F288

subject to alterations



Gas springs with
fastening to
Ford Standard
WDX

Please request your catalogue

F289



FIBRO

F290

subject to alterations



Gas springs
with thread

F291



FIBRO

Gas spring with external thread
Mounting variations

2480.005.00200.

Slotted nut : )

— ] |-

Mounting examples:

F292

subject to alterations



Gas spring with external thread

Description:

The gas springs are colour-coded according to
the spring force rating ranges 50-100-150—
200 daN.

All springs, regardless of their spring force
ratings, are of the same design. The differing
force ratings result exclusively from the
differing charge pressures.

Do take into consideration the colour-coded
pressure rating during repair work and
recharging.

Note:

Order No for spare parts kit: 2480.21.00150

Pressure medium: Nitrogen N,
Max. filling pressure: 180 bar

Min. filling pressure: 25 bar
Working temperature: 0°C to +80°C

2480.32.

|
|

| 2025

Imin.

‘ stroke max. [~—

f——

9

— -]

M28

M-

x15
e ——

Temperature related force increase: + 0.3%/°C L= M6 x 5,5 deep
Max. recommended extensions per minute: + Valve
approx. 80 to 100 (at 20°C) —=—1924,9=—
Max. piston speed: 1.6 m/s AJF 24
VQ‘?ROV‘%
Spring forces as per spring diagram.
oSl
Upon customers request, also available 7Bl
unfilled, Order No 2482.32.00000...., Colour: P
black _ %/ 2
S>max V r:"nax
> P>max
2480.32. Gas spring with external thread
Order No* Strokemax, I Imin.
2480.32.00000.010 10 62 52
2480.32.00000.013 12.7 67.4 54.7
2480.32.00000.016 16 74 58
2480.32.00000.025 25 92 67
2480.32.00000.038 38.1 118.2 80.1
2480.32.00000.050 50 142 92
2480.32.00000.063 63.5 169 105.5
2480.32.00000.080 80 202 122
2480.32.00000.100 100 242 142
2480.32.00000.125 125 292 167
*complete with initial spring force
Spring force marking:
Initial spring force [daN] - Pressure [bar] - Colour:
.00050.- 45 -green
.00100.- 90 - blue
.00150. - 135 - red
.00200. - 180 - yellow
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
180 288(1)(5;8: 17 010 013 016 025 038 050 063 080 100 125
TIGS .00150.
150 .00200. 16
5135 N
=120 g "
5 105 'y L4
g 90 T 13
3 ;g % 12 ]
T |4 /%//
30
15 10 T T T T
0 50 100 150 200 0 5 10 25 50 75 100 125
force daN —————— 9> stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F293

FIBRO



FIBRO

Gas spring with external thread

Mounting variations

2480.005.00250.

Slotted nut (”' }

258 —=—

=
o

)
_

N G-

Ia
\

L]

2480.006.00250.

Clamped flange ( )

DIN 74-Km8
(4X)\ [=—075—

[
N

P

M38x1,5

r ]

)

b | [ea

— -

é“’ﬁiﬁfﬁ:

2480.00.51.01

Box spanner for assembling/disassembling

of gas springs

W

Mounting examples:

2| [z

F294

subject to alterations



Gas spring with external thread

Note:

Initial spring force at 150 bar = 250 daN
Order No for spare parts kit: 2480.12.00250

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 50 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 1.6 m/s

Fixing:

Installation with ring nut(s) 2480.005.00250
can be done with one or two ring nuts. If the
hole in the bolster plate is not threaded, two
ring nuts are needed. Holes threaded M 38 x
1,5 require one only ring nut for mounting of
the gas springs.

Mounting with a threaded flange plate has
the advantage of a degree of adjustability as
far as the flange screws permit, moreover it is
often found easier to make do with a
clearance hole in the tool plate. Locking is by
way of two lock screws with thrust plugs,
provided in the threaded flange.

Diameter of through-hole in tool plate = 38
mm — plus four tapped holes M 8.

2480.32.00250.

=y
=
v

|

Stroke may [

| £0,25

| min:

M6 valve

14 | ——

SRk
Iz /el 1]
_
Smax vgx Pomax Flegew
2480.32.00250.

Gas spring with external
thread

Order No Strokemax, lmin. |
2480.32.00250.013 127 627 754
2480.32.00250.025 25 75 100
2480.32.00250.038 381 881 126.2
2480.32.00250.050 50 100 150
2480.32.00250.063 63.5 1135 177
2480.32.00250.080 80 130 210
2480.32.00250.100 100 150 250
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00250. 1,40 013 025 038 050 063 080 100
T 140 135
1130 130
8120 g /
£ 110 8 125 /
2 100 212
5 90 £ 1,15 /
& g0 g /
jc 2 110
5 70 /
60 1,05 %
50 1,00 — T
50 100 150 200 250 0 5 10 25 50 75 100
forcedaN ——— 9> stroke in mm -
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F295

FIBRO



FIBRO

Gas spring with male fixing thread, small mounting height
Mounting variations

©

2480.00.51.01

Box spanner for assembling/disassembling
of gas springs

W

Mounting examples:

%

]
7.

F296

subject to alterations



Gas spring with male fixing thread, small mounting height Q Q

Note:

Initial spring force at 150 bar = 250 daN
Order No for spare parts kit: 2480.12.00250

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 50 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)

Max. piston speed: 1.6 m/s

2480.82.00250.

Stroke max.

|——

| £0,25

Lmin,
]

MI12x1,

75

*10)38 02 ‘*

M6 valve

RO
B
Iz Iz | I
—
Somax | Vo Flex Guidé™
>max >max P>max
= = E—

2480.82.00250.

Gas spring with male fixing
thread, small mounting
height

Order No Strokemax.  Imin. |
2480.82.00250.013 127 627 754
2480.82.00250.025 25 75 100
2480.82.00250.038 381 881 126.2
2480.82.00250.050 50 100 150
2480.82.00250.063 635 1135 177
2480.82.00250.080 80 130 210
2480.82.00250.100 100 150 250
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00250. 17 013 025 038 050 063 080 100
140
IBO / T L8
7 120 s 15
< 110 / g
E 5 14
2 100 2
L 90 s 13
£ ;g / &7 — — — —]
11
50 ————
1,0
0 100 200 300 400 500 0 10 25 50 75 100
forcedaN ——— 9> stroke in mm -
Pressure rise factor accounts for displacement but not external influences!
F297

subject to alterations

FIBRO



FIBRO

Gas spring with male fixing thread, POWERLINE
Mounting variations

©

2480.00.51.05

Box spanner for assembling/disassembling
of gas springs

W

Mounting examples:

7

i
%7

F298

subject to alterations



Gas spring with male fixing thread, POWERLINE

Note: 2487.82.01000.

Initial spring force at 150 bar = 920 daN
Order No for spare parts kit: 2487.12.01000

Pressure medium: Nitrogen N,
Max. filling pressure: 150 bar

Min. filling pressure: 25 bar
Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C H*
Max. recommended extensions per minute: I

approx. 50 to 100 (at 20°C) *
Max. piston speed: 1.6 m/s

»‘ 928 m

Stroke may.

M16 L valve M6

SRk
; %& K]%j/\; HQH
é = ™
S>max Vgx P>Emax Flege
2487.82.01000.

Gas spring with male fixing
thread, POWERLINE

Order No Strokemax.  Imin. |

2487.82.01000.013 13 51 64
2487.82.01000.016 16 54 70
2487.82.01000.019 19 57 76
2487.82.01000.025 25 63 88
2487.82.01000.032 32 70 102
2487.82.01000.038 38 76 114

2487.82.01000.050 50 88 138
2487.82.01000.063 63 101 164
2487.82.01000.075 75 113 188
2487.82.01000.080 80 118 198
2487.82.01000.100 100 138 238
2487.82.01000.125 125 163 288

Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
016
150 013 019 025 032 038 050 063 075 080 100 125
T 140 16
=130 15
8120 5 =
L 110 s 14
2 100 8 / ]
¢ s 13
S 90 g /// |
@ w
2 80 g 12 S
S 70 o 1 LT —1—]
60 ’ ///
50 10 T T
0 200 400 600 800 1000 0 5 10 25 50 75 100 125
———————forcedaN ———— > stroke in mm -

Pressure rise factor accounts for displacement but not external influences!

subject to alterations F299

FIBRO



FIBRO

Gas spring with hexagonal flange

2480.33. *x Description:
012 The gas springs are colour-coded according to
— T the spring force rating ranges 15-50-100-
© 150-200 daN.
N All springs, regardless of their spring force
o < ratings, are of the same design. The differing
§ < force ratings result exclusively from the
& differing charge pressures.
- Do take into consideration the colour-coded
] + + pressure rating during repair work and
gn 8 _] * recharging.
Tl g Note:
) || Other stroke lengths avail on request! See gas
£ * spring 2480.32.
Order No for spare parts kit: 2480.21.00150
M6 valve
Pressure medium: Nitrogen N,
M6x5,5 deep Max. filling pressure: 180 bar
925,5 l ‘$ Min. filling pressure: 13 bar
M28x1,5 Working temperature: 0°C to +80°C
- Temperature related force increase: + 0.3%/°C
9ROe Max. recommended extensions per minute:
approx. 80 to 100 (at 20°C)
s Max. piston speed: 1.6 m/s
Al
é
S>max \%
>max P>max
2480.33. Gas spring with hexagonal flange
Spring force [daN]
Order No Strokemax. | min. | initial Colour
2480.33.00015.125 125 167 292 15 schwarz
2480.33.00050.125 125 167 292 50 griin
2480.33.00100.125 125 167 292 100 blau
2480.33.00150.125 125 167 292 150 rot
2480.33.00200.125 125 167 292 200 gelb
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
180 00015, 17 010 013 016 025 038 050 063 080 100 125
I g 1
Ti:‘s’ 100200. '
%120 § "
> 105 g 14
g 90 S 13
v 75 2
5 60 g 12
£ a5 a N 2 ///
30 ' =!
15 10 — ‘ ‘
0 50 100 150 200 0 5 10 25 50 75 100 125
forcedaN ——— stroke in mm >

Pressure rise factor accounts for displacement but not external influences!

F300

subject to alterations



Gas springs

for working
temperatures up
to120°C

see chapter L:
Gas springs Mould Line

F301



FIBRO

F302

subject to alterations



v
oT0)
C
=
Q.
v
v
(4]
o)
LL
O
—1

o
)
Q
S
S

©

F303



FIBRO

LCF gas springs, damped

?g\’Rol/go

2733

Description

The LCF series represents a whole new
generation of nitrogen-filled gas springs
developed to meet the needs of the

machine tool and press-making industries.

Negative factors such as

» high impact stresses

P excessive noise

» extreme bounce off the pad
are all minimised by LCF springs.

Characteristics such as

» dimensions

» fixing methods

» filling with gas and purging

» working in interconnected systems

are identical to those for standard 1SO or type

2480.13 gas springs.

* LCF Force Manager ist ein Warenzeichen der Associated Spring

The springs from the LCF series reduce impact
stresses by 50% compared to conventional gas
springs.

The force builds up gradually and acceleration
is uniform, reducing wear on both tool and
press. As a result, less maintenance is required.

LCF springs are at least 20% quieter than
standard gas springs.

The reduced noise level is due to the lower
impact force, making these springs a cost-
effective alternative to soundproofing panels.
They are thus more economical and
environmentally-friendly.

The LCF springs reduce the extreme bounce off
the pad during the return stroke, thus lessening
vibration on the workpiece and allowing the
workpiece to be transported more effectively.

Since the spring travel is damped, the pad
motion is more uniform, so in many cases the
press stroke rate and thus productivity can be
increased.

F304

subject to alterations



FIBRO

LCF gas springs, damped

?g\’Rol/go

2733

Description

The LCF series represents a whole new
generation of nitrogen-filled gas springs
developed to meet the needs of the

machine tool and press-making industries.

Negative factors such as

» high impact stresses

P excessive noise

» extreme bounce off the pad
are all minimised by LCF springs.

Characteristics such as

» dimensions

» fixing methods

» filling with gas and purging

» working in interconnected systems

are identical to those for standard 1SO or type

2480.13 gas springs.

* LCF Force Manager ist ein Warenzeichen der Associated Spring

The springs from the LCF series reduce impact
stresses by 50% compared to conventional gas
springs.

The force builds up gradually and acceleration
is uniform, reducing wear on both tool and
press. As a result, less maintenance is required.

LCF springs are at least 20% quieter than
standard gas springs.

The reduced noise level is due to the lower
impact force, making these springs a cost-
effective alternative to soundproofing panels.
They are thus more economical and
environmentally-friendly.

The LCF springs reduce the extreme bounce off
the pad during the return stroke, thus lessening
vibration on the workpiece and allowing the
workpiece to be transported more effectively.

Since the spring travel is damped, the pad
motion is more uniform, so in many cases the
press stroke rate and thus productivity can be
increased.

F304

subject to alterations



LCF gas springs, damped

27331

2484.13. Force diagram for gas springs

A
Standard —
Gas sPring‘ »
=
5 |
0o
5 ’ LCF-
& Gas spring
Fiet
- Spring travel

Damped spring travel S;

With the springs from the LCF series, the force builds up gradually and
_— acceleration is uniform.

Measured dynamic piston force, Measured values for the 5000th series

piston force

piston force

Spring travel

Standard gas spring

Spring travel
LCF gas spring

Comparative press load diagram

A
STANDARD LCF
i!» ' !I |
& f.",“l‘lf %“' :"‘
3[4 My A
< | I K l\;"»‘.l
|l ! ,
I
RIAAI T '

Noise reduction

The springs from the LCF series are quieter due
to the reduced impact force.

FIBRO

STANDARD LCF

subject to alterations

F305



vg?ROI/KO
i C
LCF gas springs, damped 2L
2484.13. Force diagram for gas springs
F
Aling pressu™e
Maf\mumf\l\‘ & )
I at
T — = minimum
! filling
! re pressure
: i filling Pret
t Minipaur®
|

Force
I

Fiet Hie

S1

Spring travel

Note: Maximum pressure for LCF gas springs: 150 bar. Observe minimum filling pressure.

Guidelines for the use of LCF gas springs

1. After the damped spring travel (S;) the LCF gas spring achieves the same initial spring force (F,)
and pressure build up as the standard gas spring (to 1SO).

2. The spring force (Fi) should exceed the weight (e.g. the pad) by at least 15% so that it is held
in the correct position (this does not apply in the case of minimum filling pressure).

Fis bei 150 bar Damped spring travel Minimum filling
Spring Size in daN S1 pressure in bar
2484.13.00750. 470 31 70
2484.12.01500. 700 4,6 105
2484.13.03000. 1600 3,8 69
2484.13.05000. 2500 7,7 76
2484.13.07500. 3000 10,4 90

F306

subject to alterations



subject to alterations

F307

FIBRO



FIBRO

LCF gas spring, damped
Mounting variations

2480.011.00750.3

e~

99| [~ |
s K]
15’ "FT

)

2480.011.00750

) L
Ll !
1N R

(AT

Chanlnn

M10 (2x)

2480.011.00750.1

2480.022.00750

e

75—
6,5
|

;

ﬁ 30

&
\-
&

— 61

2480.064.007504 2480.044.007502 2480.010.00750.1153) 2480.045.007502
A-A - = 2480.010.00750.190" %
£l 90 , 65
M5 (2x) £ ™ 40 = ( ) m T —=
‘ f i -0 Y
E o Um» [ *m /\ ‘\ T
© o oV th )
|t \ | ¥l ! ? *l il
HH i s <
T * A 10+01
* -~ 60 = * ——1345t = ] —
130 1
D DD [
b s %ZX) P 25
o Myt
anim: I U
} | gL A S
110 Y P ]
"=t \/
- S A 4 ]1: =] _
Q 7 ©
2480.044.03.007502 Note:
90 2 Attention:
* The spring force must be absor-
" bed by the stop surface!
} rL_-ﬁ oy o 3) Not for use with composite
‘ .—1* + tl il *ig connection.
" = T n — - 2 o
s oI s [ o Square collar flange, non-ro
SEY * Q :i i é Ml By M SR tating, fixing for composite
3 = Q1 F connection.
o © !
r‘-‘--i *s Sy ‘ * 68 * 5 Machine screws with hexa-
2014 *& \i * gonal socket (compact head
A | o A . recommended)
911,5 3 &2 S
DIN 74 - Km 10 (2x) ) pr1 | [}
DIN 74 - Km 8 (2x i 218 | |

11.2014

subject to alterations



Gas spring LCF, damped Q Q

Note: 2484.13.00750. =
Initial spring force F¢at 150 bar = 470 daN
Full spring force after 3.1 mm damped spring
travel

Order No for spare parts kit: 2484.13.00750

925
Pressure medium: Nitrogen N, ‘ M8

Stroke max.

Max. filling pressure: 150 bar
Min. filling pressure: 70 bar L <
Working temperature: 0°C to +80°C ‘ nfi
Temperature related force increase: + 0.3%/°C

Max. recommended extensions per minute:

approx. 15 to 40 (at 20°C)
Max. piston speed: 1.6 m/s

s
. E"v

| +0,25
17,5

| min:

Q9RO ke,

K
] gas I
»1¢50,2=°vll+

FIBRO

Bk
Iz 2
S>max Vgx P>Emax
2484.13.00750.

Gas spring LCF, damped

View X - G i
iew X - Gas spring Order No Strokemax.  lmin. I

2484.13.00750.013 127 107.7 1204

2484.13.00750.025 25 120 145

2484.13.00750.038 381 1331 171.2

2484.13.00750.050 50 145 195

G /s valve M8 x 13 2484.13.00750.063 63.5 1585 222

deep (2x) 2484.13.00750.080 80 175 255

2484.13.00750.100 100 195 295

2484.13.00750.125 125 220 345

2484.13.00750.160 160 255 415

2484.13.00750.200 200 295 495

2484.13.00750.250 250 345 595

2484.13.00750.300 300 395 695

Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .00750. 17 013 025 038 050 063 080 100 125 160 200 250 300
140 T 16
<130 s 15 / / / /
2 k¥
o 120 E 14 / /
=3 L) o
7 110 s 1] //
g 2, //
g 100 P / —
© g L
g = =
80 11
70 10 T T T T
200 300 400 500 600 700 0 10 25 50 75 100 125 150 200 250 300
———————forcedaN ———— > stroke in mm >

Pressure rise factor accounts for displacement but not external influences!

subject to alterations F309



FIBRO

LCF gas spring, damped
Mounting variations

2480.011.01500 2480.011.01500.2 2480.022.01500
@ [ O o ® [
I:: e
VAR RN =
7/ 7/
100 —=
r*lOO LT73'5 “F ¢100*‘
LT Te | S = 735 =
* ’\/\_ {g)) g * i”‘ | @—§© = i * JV. © ‘
gw | g o S w14 3 Sun |7
S R g ~ | & 3 S o i
L o)) ’\\:‘j * _@ A ~ N\ | ¢/
> © 911 (4x) *FG} |
i 915 (4x) = ——
DIN74-_§ ‘ = imimIE 24
Km 8 (4x) k‘\”“‘ 44? s, ey i ~
o~ ] ||vr\‘ i . o ‘ —
M S 412)9(4x) ‘ [N #11 (4x)
) —=-| | 918 (4x) -
DIN 74 - Km 10 (4x) o] 21818
2480.055.01500 2480.057.0150 2480.007.01500 2480.008.01500 )
::ﬁ[  —
2y M6 (4x)
- i =
(o))
o —
. ! o
$75,2 155 ) $75,2 o5
11 BE==H
P [~—9(0 —=|
[,
(s
= x|
X

@

2480.064.015004 2480.044.015002 2480.010.01500.1303) 2480.045.015002
A-A - -~ 115 2480.010.01500.205° %
—=| 52,5 |=—
Mrarast -
g1 1 o SERISN N
i n = == 1
2 \ | %1 L gl a 2* i
IR i I I g "
* —73,5— * 1435} = = | 0%
160 10
[l 2 2L 13510
b, el S Eig
=3 M-
Riol[ | O U
; ~ : /
* 137 m f‘\ ; \]
. - 1S =: '
Q T O
;, : 2480.044.03.015002) Note:
125 2 Attention:
e 35 = * The spring force must be absor-
21 ‘ 90 ~ bed by the stop surface!
27— LiL] d a
17 120 EBSj [ 2 I 3) Not for use with composite
ﬂ* * bty =5 Jjg connection.
nl B i I g THOTH * 'Vg | I} - 4 Square collar flange, non-ro-
st bl O b3 L] HH tating, fixing for composite
*m R ¥ * i * connection.
R e *10*04 ~—100 —= %) Machine screws with hexa-
|t = \i * gonal socket (compact head
A |- o A . recommended)
914,5 I &7 S ™
DIN 74 - Km 12 (2x) ) p135]] [}
DIN 74 - Km 8 (2x (& | 220 | |

11.2014

subject to alterations



Gas spring LCF, damped

YO

Note:

Initial spring force F¢at 150 bar = 700 daN
Full spring force after 4.6 mm damped spring
travel

Order No for spare parts kit: 2484.12.01500

Pressure medium: Nitrogen N,
Max. filling pressure: 150 bar

Min. filling pressure: 105 bar
Working temperature: 0°C to +80°C

2484.12.01500.
LI
& ﬂ;

Temperature related force increase: + 0.3%/°C £ D [
Max. recommended extensions per minute: ‘\9'5 :-t.
approx. 15 to 40 (at 20°C)
Max. piston speed: 1.6 m/s —~ @70 =
16,4
! j, I
* V??ROV%
L]
R
=67 = 723
——| 75,2 01 |=—
B e
=
S>max V>max P>max
2484.12.01500.
View X - Gas spring Gas spring LCF, damped
Order No Strokemax.  Imin. |
2484.12.01500.025 25 135 160
2484.12.01500.038  38.1  148.1 186.2
2484.12.01500.050 50 160 210
2484.12.01500.063  63.5 1735 237
G Ys valve 2484.12.01500.080 80 190 270
2484.12.01500.100 100 210 310
2484.12.01500.125 125 235 360
2484.12.01500.160 160 270 430
2484.12.01500.200 200 310 510
2484.12.01500.250 250 360 610
2484.12.01500.300 300 410 710
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
150 .01500. 17 025 038 050 063 080 100 125 160 200 250 300
Tms T 16
~ 140 !
S 135 g 15
5130 5 14
g 125 T 13 / / /
g"lzo % 12 / ///
£11s g =
110 11
105 10 T T T T
400 600 800 1000 1200 1400 1600 0 10 25 50 75 100 125 150 200 250 300
forcedaN ———— 9> stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
F311

subject to alterations

FIBRO



FIBRO

LCF gas spring, damped
Mounting variations

2480.011. 03000

© =

~— 120
£
I S | =ER
Ra a3
o i [ QB! i*i
1 > of "4
920_,
2=
o o bt
ol|ep135 N

2480.011.03000.2

~—120

" ,5 (4x
R i)
L B AN

B g
2?“' 09 (4x) _ E
$20 (4x)

2480.022.03000

120
92

;

2480.055.03000

7:ﬁ[
o
ZY
- i
m
m
L]
y 99523 %

2480.007.03000

) o_”f\“o é
e Y
—~=— 130—
170

DIN 74 - Km 12 (2x)

13,5

2480.064. 030004 2480.044.030002 2480.010.03000.1403) 2480.045.030002
A-A E %A ~— 145 2480.010.03000.215*3) 110
M6 (2x) £1 67,5 = () _ :
* hTrT‘j * E==1 ‘/\1 / = i'
n £ i N
~ n 2 un \‘] |\§ é —
'; ; 8* T 737'1* H | *
g ‘ -
* A 10+01
46,5 11
=110 o XSy
-] T35
9125 || | i1 %j
A F} ! E3 o/ )
-l o NS
N — ) q N\
o = m Par} 0
J il o ] 2=
v ) @ * Y i =E )
A )
Q@ 5 Q
2480.047.030002 Note:
( ) 2 Attention:
140 * The spring force must be absor-
—1 40 ‘* bed by the stop surface!
m
26704 =~ 110" T2 oo oo T 3) Not for use with composite
= ".—1“* =163,5= i [TTT 7i i connection.
n = * o ) é AT 4 Square collar flange, non-ro-
=7 1 I3 S 1l Lol o tating, fixing for composite
(@) — o Ak * connection.
S 222 * £ { 115 % Machine screws with hexa-
ini Q.T 10%01 \i * gonal socket (compact head
A n recommended)
- g Ifan) o
914,5 I &7 S ™

DIN 74 - Km 8 (2x

@ 020 |

11.2014

subject to alterations



Gas spring LCF, damped

Note: 2484.13.03000.
Initial spring force F¢at 150 bar =1600 daN
Full spring force after 3.8 mm damped spring y
travel g »‘ @50 ‘+
o M8
%
Order No for spare parts kit: 2484.13.03000 = ﬂ;
Pressure medium: Nitrogen N, -
Max. filling pressure: 150 bar m§
Min. filling pressure: 68 bar * i
Working temperature: 0°C to +80°C S —— *
Temperature related force increase: + 0.3%/°C * 'QS
Max. recommended extensions per minute:
approx. 15 to 40 (at 20°C) —~— 390 |
Max. piston speed: 1.6 m/s
E
16,4
£
! + vQ‘eROV%
o E
Tl
=87 =
—— ¢95,2 10,1 |a— /? %?
=
S>max V.
4X >Mmax P>max
2484.13.03000.
View X - Gas spring Gas spring LCF, damped
Order No Strokemay, Imin. |
2484.13.03000.025 25 145 170
2484.13.03000.038 381 158.1 196.2
2484.13.03000.050 50 170 220
2484.13.03000.063 63.5 1835 247
1 2484.13.03000.080 80 200 280
G e valve 2484.13.03000100 100 220 320
2484.13.03000.125 125 245 370
2484.13.03000.160 160 280 440
2484.13.03000.200 200 320 520
2484.13.03000.250 250 370 620
2484.13.03000.300 300 420 720
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .03000. 17 025 038 050 063 080 100 125 160 200 250 300
140 T 16
~130 Ll
S 120 £
Py
g 100 T 13
£ 8 & o —
70 11 ——
60 10 T T T T
800 1200 1600 2000 2400 2800 3200 0 10 25 50 75 100 125 150 200 250 300
——forredaN ———» stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F313

FIBRO



FIBRO

LCF gas spring, damped
Mounting variations

2480.011. 05000

2480.011.05000.2

2480.022.05000

& ) : o g .
w0 s |0 5
~— 140 140+ 7
7T} 1095 7o »T1095 75
1— g §l N
Lo P ﬁﬂ%l ig| %9*% 4%
SR 8 3 ﬁ; < oo
Ll f o 2T
: T rk
1 520 9135 (4) L;:G}
™ 518 g x) g$8¢
e 4 LTI
11 —— | —-—
ﬂ?$ j@ ﬂﬁg 011 (4x)_|| 620 (4x) -~
2480.055.05000 2480.007.05000
::ﬁ{
: “l
b

y $120,2 135

D]

R o_”f\“o é
R
~=— 155
205

2480.064.050004
A-A -

o
(=130

2480.044.050002

~=— 165
—=—77,5 |~

[~ 148
e
120,5

2480.010.05000.1603)
3 *‘ 9130 ‘¢
(0122

il
S

2480.047.050002

170 *
ise mzﬁi "81838" n ki o *L;io
K o <
= mcig N xS U Tl
7T 5| 8y
O —
A4
[ E Tlom \I 145 —= * *
——| | —— [e)) ——]
| " e I )
917,5 £ &7 S ™
}

DIN 74 - Km 16 (2x)
DIN 74 - Km 10 (2x

13,5
920

i
i

140
* 3 E j*f} i'/" ,%
0\*2 —{-h \‘} l&% —
™~ __ Aﬁq* i i *
* A Q- ‘ ‘ +0,1
—=| 48 f— — 10
11,5
18j;L:* 36,5
itz D
0 X 7
I Uikees-— Q
Note:
2 Attention:
The spring force must be absor-
bed by the stop surface!

w

Not for use with composite
connection.

2)

Square collar flange, non-ro-
tating, fixing for composite
connection.

w

Machine screws with hexa-
gonal socket (compact head
recommended)

11.2014

subject to alterations



Gas spring LCF, damped

Note:

Initial spring force F¢at 150 bar =2500 daN
Full spring force after 7.7 mm damped spring
travel

Order No for spare parts kit: 2484.13.05000

Pressure medium: Nitrogen N,

Max. filling pressure: 150 bar

Min. filling pressure: 75 bar

Working temperature: 0°C to +80°C
Temperature related force increase: + 0.3%/°C
Max. recommended extensions per minute:

2484.13.05000.
é *J #65 @

%

}7

3 min.
|-

25,5

S
[N

approx. 15 to 40 (at 20°C) @115 =
Max. piston speed: 1.6 m/s
£
16,4
~
.
gﬁ eo* * B
9112 = e 2 n
—— $120,2 01 |=— =
4)( S>max V>max Psihax Flex Guide
2484.13.05000.
View X - Gas spring Gas spring LCF, damped
Order No Strokemax., Imin. |
2484.13.05000.025 25 165 190
2484.13.05000.038 38.1 178.1 216.2
2484.13.05000.050 50 190 240
2484.13.05000.063 63.5 203.5 267
. 2484.13.05000.080 80 220 300
G /s valve M10 x 16 2484.13.05000.100 100 240 340
deep (4x) 248413.05000.125 125 265 390
2484.13.05000.160 160 300 460
2484.13.05000.200 200 340 540
2484.13.05000.250 250 390 640
2484.13.05000.300 300 440 740
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke >
150 .05000. 17 025 038 050 063 080 100 125 160 200 250 300
140 T 16
~— 130 I
3 5 15
S g
e 120 E 4 / /
g 110 2 /
g o 13
g, 100 z = // 11— L —
S 90 [
g 4;;/
80 11 —
70 1,0 T T T T
1600 2000 3000 4000 5000 0 10 25 50 75 100 125 150 200 250 300
——forcedaN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F315

FIBRO



FIBRO

LCF gas spring, damped
Mounting variations

2480.011.07500

W

[ EA SR
* L@@‘ @**T

2480.011.07500.2

2480.022.07500

! o~
| —
17,5 (4x)

2480.055.07500
::)—x

=~

— +2
9150,2+05

F—~—

9150,2435

2480.008.075003)

2480.064.075004
A-A -

200

| 1

2 u/BEKES

i .

REANSY | il

i 175 ‘ *
1

I7an) )

& =7 I

) p13,5 1 |}

Q 020 |

Note:

2 Attention:
The spring force must be
absorbed by the stop surface.

3) Note:
Not for use with composite
connection.

4 Square collar flange, non-
rotating, fixing for composite
connection.

5) Machine screws with hexa-go-
nal socket (compact head
recommended).

11.2014

subject to alterations



Gas spring LCF, damped

Note: 2484.13.07500.
Initial spring force F¢at 150 bar =3000 daN 80
Full spring force after 10.4 mm damped spring $‘ 4 [,\‘,\g
travel
r
Order No for spare parts kit: 2484.13.07500 .
£ *
Pressure medium: Nitrogen N, %J £
Max. filling pressure: 150 bar B * ™
Min. filling pressure: 89 bar ===
Working temperature: 0°C to +80°C 25 *
Temperature related force increase: + 0.3%/°C n XS
Max. recommended extensions per minute: ~ |~— 3145 ——|
approx. 15 to 40 (at 20°C)
Max. piston speed: 1.6 m/s
£
16,4 e
+ o
. + Tl
ol ol / /
iz RN !
3142 —= - - )%\/
—=| $150,2 %01 |=— Ssmax | Vsmax Pomax | Flex Guide™
= = =
bx 2484.13.07500.
View X - Gas spring Gas spring LCF, damped
Order No Strokemax.  lmin. |
2484.13.07500.025 25 180 205
2484.13.07500.038 381 1931 2312
- 2484.13.07500.050 50 205 255
2484.13.07500.063 63.5 2185 282
2484.13.07500.080 80 235 315
G /s valve M10x16 2484.13.07500.100 100 255 355
deep (4x) 2484.13.07500.125 125 280 405
2484.13.07500.160 160 315 475
2484.13.07500.200 200 355 555
2484.13.07500.250 250 405 655
2484.13.07500.300 300 455 755
Initial spring force Spring force Diagram displacement versus stroke rise
versus charge pressure
nominal stroke »
150 .07500. 17 025 038 050 063 080 100 125 160 200 250 300
Tuo g T 16
3130 % 153 15
120 £ 14 / / /
€110 s 13
100 2 12 // AN A A1 —
£ A s /44?/
90 11 ﬁ%ég:/
80 10
2500 3500 4500 5500 6500 7500 0 10 25 50 75 100 125 200 250 300
force daN stroke in mm >
Pressure rise factor accounts for displacement but not external influences!
subject to alterations F317

FIBRO



F318

00S1LO 9L 68V

Controllable
Gas springs

PATENTED

Please request your catalogue




Air springs
to VW Standard

Please request your catalogue

F319



Manifold-
systems

Please request your catalogue Er{l}

DOWNLOAD

F320



Please request your catalogue

11.2014



Gas spring
Accessories

F321



FIBRO

Pressure reservoir
for reduced pressure rise

2480.00.70.

Base plate for

for 2480.00.70.075. ...

Base plate for

for 2480.00.70.095. ...
for 2480.00.70.120. ...

(for 2480.00.70.120. ...)
L— (for 2480.00.70.095. ...)

Description:

The pressure reservoir and its base plates are manufactured from the same high grade steel als FIBRO gas springs. The advantage of including a pressure
reservoir in the system is that in operation the gas pressure rises to a lesser extent. Apart from the purely tecnical pressure factors, a reduced pressure rise
is beneficial to the service life of the system.

Function:

The pressure reservoir has two or four mounting holes with G%" at both sides, which are designed for connection to the control fitting or gas spring.

Note:

If a pressure reservoir is to be installed, we recommend the 24°-cone-system, which ensures that the gas flow is not inhibited. Mounting clamps should be
ordered separately. At least 2 are required for each pressure reservoir, see following pages.

2480.00.70. Pressure reservoir

Volumein |
Order No. [litres] Ja b
2480.00.70.075.0170 0,25 75 170
2480.00.70.075.0250 0,50 75 250
2480.00.70.075.0410 1,0 75 410
2480.00.70.095.0300 1,0 95 300
2480.00.70.095.0500 2,0 95 500
2480.00.70.095.0700 3,0 95 700
2480.00.70.095.0900 4,0 95 900
2480.00.70.120.0360 2,0 120 360
2480.00.70.120.0615 4,0 120 615
2480.00.70.120.1125 8,0 120 1125
Ordering Code (example):
Pressure reservoir 2480.00.70.
Ja = 75mm 075.
b =170mm 0170
Order No. 2480.00.70.075.0170

Gas spring size/daN

Piston rod area/dm?

.00500

0,031

Calculating the isothermic increase in pressure*

(*by approximation)

V,+H(nxVgh)

Pressure increase =
V,+(nx(Vg—StrokexA))

Va Ul
Vg 0

Volume of pressure reservoir, see table
Gas volume of gas springs, appropriate spring types

1) Note: When designing gas volume of spring types,
please contact us at FIBRO.

Stroke [dm]
A [dm?]
n Number of gas springs

Travel of gas springs, appropriate spring types
For area of piston rods of the gas spring, see table

Calculation example:

10 gas springs, type 248.13.05000.050 with a travel of 50 mm (0,5 dm) are
connected to a system with an 8 litres pressure reservoir.

) 8 1+(10x0,51 1)
Pressure increase =

00750 0,049 =1145
5T 0100 81+ (10x(0,511-0,5 dm X 0,332 dm2))

.03000 0,196

.05000 0,332

.07500 0,503

.10000 0,709

F322 subject to alterations



Pressure reservoir

for reduced pressure rise

2480.00.70. Installation example: 24°-cone-system

Item Quantity Description Order No.

1 2 Connection thread G1/s 2480.00.26.03

2 3 24°-cone-hose 2480.00.25.01.0 000

3 1 Pressure reservoir 2480.00.70.000.0000
4 4 Connection thread G1/4 2480.00.26.04

5 1 Monitoring unit 2480.00.31.01

subject to alterations

F323

FIBRO



FIBRO

Mounting clamp
for pressure reservoir

2480.00.70. Description:

The mounting clamp is a rubber coated galvanised sheet steel ring and is

_SW17 used for mounting the FIBRO pressure reservoir.
f\% 4 Important:
K}l T ) At least 2 fixing clamps are required per pressure reservoir. If the pressure
tank is to be mounted vertically,
it should be seated on a robust base.
" ()
o
B ~
Ordering Code (example):
=31 b 29 (2x) Mounting clamp (1)
pa for pressure reservoir =2480.00.70.
c Pa = 75mm = 075
Order No. =2480.00.70.075
2480.00.70. Mounting clamp
Order No. Ja b C d e
2480.00.70.075 75 80 105 41,5 102
2480.00.70.095 95 100 145 51,5 122
2480.00.70.120 120 100 145 64 147
Installation Example:
Horizontal Vertical
Mounting clamps Correct Wrong
|J ‘ T 5 5=
y
\ %
Pressure reservoir Mounting clamps /
o
7

: 1
Pressure reservoir /
/.

F324 subject to alterations



Pressure plate, shock absorbing

2480.015.

)
N\

1(2x)

|
-
-
<3

—=| 25 |=—

=i
Ft |

Installation example

Pressure plate,
shock

absorbing
2480.015.

As3
[a]

Top of tool

Sheet metal

retainer \

Gas spring
Bottom
of tool
Function
8 .
T without 2480.015. I with 2480.015.
6 t
I
= 4 t
= I
S 2 T
= 1]}
o 0 T
g I
® -2 T
L]
© |
©n -4 ]
. I
6 I
8 L
0 2 3 4 5 10 11
Time [s] >

2480.015. Pressure plate

Order No. Gas spring strength a b C
2480.015.01500 750 — 1500 108 91 58
2480.015.05000 >1500 — 6600 143 126 92
2480.015.10000 > 6600 —10600 167 150 112
Description:

The shock absorbing pressure plate is designed to minimise the main prob-
lems in the metal forming industry.

A specially designed shock absorbing unit is designed to reduce:
—extreme impact loads

— consequent high costs for press maintenance

- high noise levels

—risk of production of lower quality parts.

Guidelines for using shock absorbing pressure plates with gas springs:

1. After the maximum shock absorbing travel of 3 mm the gas spring will
reach the same initial spring force as it would without the shock absor-
bing pressure plate.

2.The shock absorbing pressure plate is mounted between the tool and the
piston rod of the gas spring.

Material:

Steel, nitride
Polyurethane

Note:

Working temperature: 0°Cto80°C
Recommended max. strokes/min: 20

Max. press speed: 1.6m/s
Max. shock absorbing travel: 3mm

9000
8000 i
7000 A
6000

|
5000 ’
|
|

-»>

4000

3000
/

2000
== without 2480.015.

1000 — with 2480.015. |
|

dynamic impact load [N]

0
1,96 1,965 1,97 1,975 1,98
Time [s] >

subject to alterations

F325

FIBRO



FIBRO

Thrust Pad
Thrust plate
2480.004. 2480.004. Thrust Pad
Socket
R 100 cap screw
DIN EN
Order No ISO 4762 A/F b |
2480.004.06 M6 17 20 6
2480.004.08 M8 19 22.5 11

—»6
4>|<7

Description:
Trust pad for gas springs with M6 and M8 thread in the piston rod, not
for 2480.13.00500.000

Material:
No 1.7131, case-hardened
{ =
wv
|— p —=i
2480.009. 2480.009. Thrust plate
max. piston rod
Order No* diameter a b ¢ d di e e t
; {ﬂdlh 2480.009.00250 15 50 25 12 7 11 32 8 7
FER | o e s 2480.009.00500 20 55 30 12 7 11 40 14 7
L} G : 0 2480.009.00500.1 20 55 32 16 9 15 37 - 10
* g ‘ 2480.009.00750 25 70 35 15 9 15 48 14 9
2480.009.00750.1 36 65 50 16 9 15 47 - 10
2480.009.01500 36 75 50 15 9 15 56 30 9
2480.009.03000 50 85 60 15 9 15 66 40 9
T + 2480.009.03000.1 50 80 60 16 9 15 62 - 10
%) 2480.009.05000 65 100 80 20 11 18 72 56 11
i N4 R 2480.009.05000.1 65 80 80 16 9 15 62 - 10
@) 2480.009.07500 80 110 100 20 11 18 85 75 11
¢ ﬁ 2480.009.07500.1 80 100 100 16 9 15 82 - 10
*Execution .1 to Volvo standard
e
+2 .
a Material:
No 1.2842, hardened
2480.018. 2480.018. Thrust plate
max. piston rod
— d [ Order No diameter a c d d; e t
+ { 2480.018.01500 65 90 12 9 15 64 9
s Lo
1 b Material:
* 1 No 1.2842, hardened
| ——
@)
NS/
? o
@) !
4
——  ——|
a+2

10.2015 subject to alterations



Thrust plate
Thrust plate to Renault standard

2480.019. Thrust plate 2480.019.
manx. piston rod
Order No* diameter a c d d; e t —— d; |=—
2480.019.00100 15 40 15 9 15 21 10 i
2480.019.00100.2 15 40 15 7 11 24 7 - T T T
2480.019.00750 25 56 20 11 18 32 13 v T ! L
2480.019.03000 50 71 20 11 18 48 13 i =
2480.019.03000.2 50 70 15 9 15 50 9 *
2480.019.03000.1 80 90 20 11 18 67 13 —idi=
2480.019.07500.2 80 90 15 9 15 70 9
2480.019.07500 95 140 20 11 18 110 13
*Execution .2 to VDI 3003 (A
&)/
Material: % o
No 1.2842, hardened () *
N4
—— e —]
a+2
2480.019.45. Thrust plate to Renault 2480.019.45.
standard " d
max. piston rod
Order No Shape diameter a e d - a e
2480.019.45.00750 A 50 70 50 11 A “" e t
2480.019.45.01500 A 80 90 70 11 =
2480.019.45.03000 B 95 105 85 11 b
2480.019.45.05000 B 95 125 105 11
2480.019.45.07500 B 95 150 125 13 o v
2480.019.45.10000 B 95 190 165 13
i &
Material:
No 1.2842, hardened . a
3| : e
B
Fany o
A A%
T
yany Vany
3 "
Description:
The hardened thrust pad 2480.004. reduces side forces in cases of skew max. 0,15°
thrust vaces or lateral displacement component. | [~
In conjunction with the thrust pads, the hardened thrust plates 2480.009., N
2480.018. and 2480.019. further helps to protect the gas spring from | N
lateral forces, through reduction of friction — even when used without the |
thrust pad.
Note:
Especially with gas springs of large stroking capacity we recommend the
use of the pad plate combination! 0 i
1 T f ]
A — N —
AN — AN —
SAANNNANNN\V SAANNNANNN\V

subject to alterations F327

FIBRO



Concertina shrouds

Q
o
0
TH

Description:

The concertina shroud protects the piston rod of the gas spring against negative influences, such
aseg.:

@ drawing in dirt

@ damage to the surface of the piston rod
@ adhesion of dirt particles

@ drawing in of oil and/or emulsion

The concertina shroud is internally (cylinder tube side) fastened and is free of any obstructing
contours, such as externally mounted tube clamps. This enables fastening and installation of the gas
spring inside the tool without any restrictions.

The concertina shroud for gas springs prolongs the lifetime of the gas springs under rough operating
conditions.

Technical data

Material Concertina shroud: CSM-Rubber 65 +3 Shore A
Disc: Steel burnished
Ring: stainless Steel

Temperature range: 0-90 °C

Chemical resistance Acids: very good
Alkaline solutions: very good
Solvents: sufficient

Weather resistance Sun light (UV): good
Ozone: very good
Water: sufficient

Oil resistance Mineral: good
Synthetic: sufficient

Delivery:

Concertina shroud incl. rotatable disk and countersunk screw.
Custom dimensions/materials available on request.

Mounting examples: Concertina shroud

=,

H*

screw mounted fixed with 2480.055./057./064. ; .
at the bottom fixed with
with 2480.011. 2480.007./008.
% g
rol
A (1]
=N N e = SN ——
; D) N
i 1]

fixed with 2480.044./045./047.

A é

915% =

installed loose in
the bore

More mounting examples for gas springs see page
»Mounting directions for gas springs“

4

F328 subject to alterations




Concertina shroud

2480.080.

fe————d; — «

»M
(Countersunk head cap screw
DIN EN ISO 10642)

=

sticked (vulcanized)

|
!

“«

»N
Number of
folds

Imax.

ds ——  Disc

—— Ring

W

Position of ventilation —J

C
S— Gas spring
ZD
2480.080. Concertina shroud
— —
= & g § § g8 sgg g g8 g ss g gg g &8s
on g N ~ ~ S o N tn n < < o NN (=] O © N N N
o 8 S 3 8 8 838 338 3 S8 3 33 3 88 S 33
.E " ~ " " " " " " " " " " " " g " " " " "
58 8 R = R 4 4§93 4934 8 943 49 89234 98 4 4943
g a ) % & & 2 3% 8 8 9 2 & 9 8 & % 2 & 9
=08 N S N N N N N N N S N N N S
D 32 38 45 45 50 50 63 75 75 95 95 120 120 150 150
d, 45 50 50 55 55 65 65 75 75 95 95 120 120 150 150
d; 32 38 45 45 50 50 63 75 75 95 95 120 120 150 150
d, /KD 16 20 20 25 25 28 36 36 45 50 60 65 75 80 920
s 6 6 6 6 6 6 6 6 6 6 6 6 6 9 6
ds 6.6 6.6 6.6 6.6 9 6.6 6.6 9 6.6 9 9 9 9 17 9
ds 10 14 14 17 17 20 28 28 37 42 51 57 66 71 81
t 5 5 10 5 10 5 5 10 5 10 5.5 10 5.5 20 5.5
m M6X8 M6X8 M6X12 M6X8 M8X12 M6X10 M6X10 M8X12 M6X10 M8X12 M8X12 M8X12 M8X12 M16X25 M8X12
Stroke 125 (Stroke < 125)
|min. 28 28 28 28 28 28 28 28 28 28 28 23 23 24 21
lmax. 133 133 133 133 134 134 134 134 134 134 134 134 134 137 134
n 10 10 10 10 10 10 10 10 10 8 8 6 6 5 5
Stroke 300 (Stroke > 125), not for 2487.12.*
Imin. - - - - 52 -*/52 --*/52 52 --*/52 54 --*/54 41 -*/41 37 -*/34
|max. - - - - 309 309 309 309 309 309 309 309 309 402 309
n - - - - 22 X2 -*[22 22 --*/22 19 -*/19 14 -*/14 11 -*/11
Ordering Code (example)
Concertina shroud =2480.080. Concertina shroud =2480.080.
ZD=120mm = 120. ZD =120 mm = 120.
d,/KD =65 mm = 065. d,/KD =65 mm = 065.
Stroke = 125 (Stroke <125 mm) = 125 Stroke = 300 (Stroke > 125 mm) = 300
Order No. =2480.080.120.065.125 Order No. =2480.080.120.065.300
F329

subject to alterations

FIBRO



FIBRO

Gas spring connection systems
Introduction

Connecting gas springs in one more systems enables the user to monitor gas spring pressure from outside the tool, to adjust it if necessary, to fill it
and to drain it. The connector system has many advantages including ease of maintenance, reliability and improvement in the quality of gas spring

use in the tool.

FIBRO offers four different systems for hose connections for gas springs: Minimess system, Compression fitting system, JIC system (24° flare) and
Micro connector system. The hoses, screwed connectors and other components are selected to meet the most stringent standards and undergo a
series of tests including service life, static seel and robustness after repeated assembly and disassembly.

Minimess system 2480.00.23./.24.

+Small external hose diameter @5 mm

+Small bending radius Rmin = 20

+ High pressure resistance

+ Vibration-proof measurement couplings

+ Connector with valve

+ No tools needed for connecting hose to adapter, and
disconnecting

+ Swaged non-detachable hose fitting

— Not for use with a pressure reservoir

Recommended application:

Most used system for all gas springs with G1/s gas connection.

Technical data:
Hose: polyamide 11, black, dimpled
Hose fitting: free cutting steel, galvanised
Measurement couplings:
Adapter:

Max. pressure:

free cutting steel, galvanised
steel, gunmetal finish
630 bar

Temperature range: 0-100°C

Not suitable for use with a pressure reservoir because of the small internal diameter which reduces the flow.

Compression fitting system 2480.00.10.

+ Assemble on-site system

+ Reusable hose fitting

+ High pressure resistance

+ Suitable for connecting to a pressure reservoir under certain conditions
— Larger bending radius Rpin = 40

— Not suitable for gas springs with M6 connection thread

— Extra time required for preparing hose and fitting it

Recommended application:

For all gas springs with G/s gas connection.
Mainly used for self-assembly in small numbers.

Technical data:

Hose: polyurethane/polyamide, black, dimpled
Hose fittting: steel, galvanised

Adapter: steel, galvanised

Max. pressure: 380 bar

Temperatur range: 0-100°C

24°-cone-system 2480.00.25./.26.

+ Suitable for connecting to a pressure reservoir

+ Wide range of connection adapters

+ Vibration-proof (O-ring seal)

+ High pressure resistance

+ Swaged non-detachable hose fitting

— Larger bending radius Ry, = 40

—Not suitable for gas springs with M6 connection thread

Recommended application:

For all gas springs with G1/s gas connection.
Mainly used for connection to pressure reservoir.

Technical data:

Hose: polyurethane/polyamide, black, dimpled
Hose fitting: steel, galvanised

Adapter: steel, galvanised

Max. pressure: 315 bar

Temperatur range: 0-100°C

Connector system, 24° conus micro 2480.00.27./.28.

+small external hose diameter 85 mm

+ hose: small bending radius Rmin = 20 mm

+ pipe: Min. bending radius = 12 mm (3x da)

+ high pressure resistance

+small connection adapter

+ vibration-safe due to O-ring seal

+ tightly pressed, non-detachable hose fitting

- not suitable for use with a pressure reservoir

- limited suitability for gas springs with thread connection G1/3

Recommended application:

For all gas springs with M6 gas connection.
Not suitable for use with a pressure reservoir due to small internal diameter
(reduced flow volume).

Technical data:

Hose: Polyamide 11, black, dimpled
Hose adapter: free cutting steel, galvanised
Adapter: steel, galvanised

Max. perm. pressure:
Temperature range:

Pipe:

Pipe external diameter (da):
Pipe internal diameter (di):
max. dynamic pressure:
Temperature range:

475 bar
0to+80°C
steel

¢4 mm

92 mm

430 bar
0to +100 °C

Note: Pipe system, 24° conus micro for higher temps on request.

F330

subject to alterations



Instruction for hose assembly
Mounting arrangement
for gas springs in the Minimess system

Never exceed the maximum pressures and temperatures for the hoses. . .
Any bends in the hose must always have the recommended mini-

Ensure that all hoses and adaptors are perfectly clean prior to @ mum radius, as detailed in the catalogue.
assembly. ’

To be suitable for use with compressed gas the hose sheath must be per-
forated. We recommend the use of the 24°-cone-hose system for pressure
reservoir to ensure an unrestricted gas flow.

Follow the instructions below to ensure functionality and maximum ser-
vice life for the hose connection:

The hose must be connected correctly to avoid
@ mechanical damage.

@ Select a hose length to provide a certain amount of play.

The longitudinal marking on the hose must
@ not be twisted during assembly.

Refer to DIN 20066 for further details on installing hose connections.
Warning:
Any modifications whatsoever to the product are prohibited.

For further information refer to the FIBRO Gas Spring Catalogue, visit www.
fibro.com or contact your FIBRO agent.

2480. Example 1:

Direct connection for group

Function:

Each spring has a direct connection with the control fitting.
They are not interconnected and form a pressure zone

See control fitting 2480.00.30

L] —4
Note: — T =N

When installing gas springs in the system always remove the valve from
the gas spring. _ 1
® @J

Item Designation Number  Order No. Comment

1 Control fitting 1 2480.00.30.01 Optionally with diaphragm pressure switch 2480.00.30.02
2 Gauging coupling 4 2480.00.24.01

3 Measuring hose 4 2480.00.23.00.000  Type of connection and length as required

4 Gauging coupling 4 2480.00.24.02

subject to alterations F331

FIBRO



FIBRO

Mounting arrangement

for gas springs

in the Minimess system

2480. Example 2:

Group series connection

Function: Note:

The springs are interconnected and there is just one test line to the control When installing gas springs in the system always remove the valve from
fitting. the gas spring.

Position Designation Number Order No. Comment

1 Measuring hose 7 2480.00.23.00.000  Type of connection and length as required

2 Distributor 1 2480.00.24.33

3 Gauging coupling 13 2480.00.24.01

4 Gauging coupling 1 2480.00.24.02

5 Control fitting 1 2480.00.31.01

F332 subject to alterations



Mounting arrangement for gas springs
in the Minimess system

‘ZFIBRO

2480. Example 3:

Multiple connections with independent functioning

Function:

Each series of springs has a direct
connection with the control fitting. By
using a common pressure supply the
springs can be joined in the fitting so
that joint filling/releasing of gas is
possible. The gas in each series of springs

can also be filled/released or monitored When installing gas springs always remove the valve
individually . from the gas spring.

See Multi control fitting

2480.00.39.05.04

Item Designation Number  Order No. Comment

1 Simple adaptor, short 4 2480.00.24.17 Choice of "long"“ or "very long" depending on the specific mounting arrangements.
2 Gauging coupling 28 2480.00.24.01

3 Multi adapter 12 2480.00.24.11 Choice of "long" or "very long” depending on the specific mounting arrangements.
4 Measuring hose 16 2480.00.23.00.000 Type of connection and length as required

5 Multi control fitting 1 2480.00.39.05.04

6 Gauging coupling 4 2480.00.24.01

subject to alterations 04.2016



FIBRO

Mounting arrangement for gas springs
in the Minimess system

2480. Example 4.1:

Group series connection

Function:

The springs are interconnected and there is just

one test line to the control fitting.

Note:

When installing gas springs always remove the

valve from the gas spring.

ltem Designation Number  Order No. Comment

1 Coupling 1 2480.00.24.31

2 Measuring hose 4 2480.00.23.00.000  Type of connection and length as required
3 Control fitting 1 2480.00.31.01

4 Gauging coupling 7 2480.00.24.01

5 Gauging coupling 1 2480.00.24.02

2480. Example 4.2: Function: Note:

Group series connection

The springs are interconnected and there is just
one test line to the control fitting.

When installing gas springs always remove the
valve from the gas spring.

Item Designation Number Order No Comment

1 Simple adaptor, short 1 2480.00.24.17 Choice of "long" or "very long" depending on the specific mounting arrangements.
2 Gauging coupling 5 2480.00.24.01

3 Multi adapter 2 2480.00.24.11 Choice of "long" or "very long"“ depending on the specific mounting arrangements.
4 Measuring hose 3 2480.00.23.00.000  Type of connection and length as required

5 Control fitting 1 2480.00.31.01

6 Gauging coupling 1 2480.00.24.02

F334 subject to alterations



Mounting arrangement for gas springs
in the Minimess system

2480. Example 5:

Independent test connection

Function:

The springs work independently and have a
gauging coupling (2480.00.24.01) with valve.

If required the springs can be tested and
pressure adjusted individually. A control fitting
(2480.00.31.01) is used for the purpose.

ltem Designation Number  Order No Comment

1 Gauging coupling 3 2480.00.24.01

2 Measuring hose 1 2480.00.23.00.000  Type of connection and length as required
3 Control fitting 1 2480.00.31.01

4 Gauging coupling 1 2480.00.24.02

subject to alterations

F335

FIBRO



FIBRO

Gas spring accessories

Minimess — Compound threaded joints

2480.00.23.01. 2480.00.23.01.
Gauging hose - Order No I
both ends straight 2480.00.23.01.0200 200
2480.00.23.01.0300 300
=33 - 2480.00.23.01.0400 400
17 |~ 2480.00.23.01.0500 500
2480.00.23.01.0630 630
i 2480.00.23.01.0800 800
— & Threaded 2480.00.23.01.1000 1000
8 _ connection 2480.00.23.01.1200 1200
b s1265x1,5 (2x) 2480.00.23.01.1500 1500
2480.00.23.01.2000 2000
2480.00.23.01.2500 2500
2480.00.23.01.3000 3000

2480.00.23.01.----.1

* other lengths available in 5 mm steps,

shortest factory lengths:
without antikink protection:

Antikink spiral, at one end S0 mm

150 mm

antikink protection at one end:

2480.00.23.01.----.2

Antikink spiral, at both ends antikink protection at both ends: 300 mm

2480.00.23.02. 2480.00.23.02.
Gauging hose - Order No I
90°-angle 2480.00.23.02.0300 300
2480.00.23.02.0400 400
2480.00.23.02.0500 500
) 2480.00.23.02.0630 630
Ll 2480.00.23.02.0800 800
2480.00.23.02.1000 1000
— Threaded 2480.00.23.02.1200 1200
connection 2480.00.23.02.1500 1500
512,65 x1,5 (2x) 2480.00.23.02.2000 2000
2480.00.23.02.2500 2500
2480.00.23.02.3000 3000

2480.00.23.02.----.1

Antikink spiral, at one end, straight

2480.00.23.02.----.2

Antikink spiral, at both ends

2480.00.23.02.----.3

Antikink spiral, at one end, 90°

* other lengths available in 5 mm steps,
shortest factory lengths:
without antikink protection:

90 mm

150 mm

antikink protection at one end:

antikink protection at both ends: 300 mm

2480.00.23.03. 2480.00.23.03.
Gauging hose - Order No "
both ends 2480.00.23.03.0200 200
90°-angle 2480.00.23.03.0300 300
46— 2480.00.23.03.0400 400
2480.00.23.03.0500 500
2480.00.23.03.0630 630
o 2480.00.23.03.0800 800
5 ';‘ 2480.00.23.03.1000 1000
I 2480.00.23.03.1200 1200
(p17 = 2480.00.23.03.1500 1500
2480.00.23.03.2000 2000
Threaded 2480.00.23.03.2500 2500
connection 2480.00.23.03.3000 3000

$12,65x 1,5 (2x)

2480.00.23.03.----.3

Antikink spiral, at one end

* other lengths available in 5 mm steps,
shortest factory lengths:
without antikink protection:

105 mm
150 mm

antikink protection at one end:

2480.00.23.03.----.2

Antikink spiral, at both ends

antikink protection at both ends: 300 mm

F336 subject to alterations



Gas spring accessories
Minimess — Compound threaded joints

Gauging coupling
2480.00.24.01 with valve
2480.00.24.03 without valve

for connection to gas spring

SW

$12,65x1,5
!
%

|- 25—

Gauging coupling
2480.00.24.02 with valve
2480.00.24.04 without valve

for connection to control fitting

Order No G d Sw* | I,
2480.00.24.01 Gls 14 14 22 8

2480.00.24.02 G/, 19 19 21 10
2480.00.24.03 G/ 14 14 22 8
2480.00.24.04 G/, 19 19 21

*SW = A/F - width across flats

Note:

The gauging coupling with valve is used in standard permanent connec-
tions. The valveless gauging coupling is used in systems where changes to
the filling pressure are necessary on a regular basis (e.g. die cushions).

2480.00.24.16 long 2480.00.24.17 short
GYs 2480.00.24.18
T extra-long

i;;l Single adapter

016 m/s

%
W

[
1
Y
o0 T
c AN
o 1
£ o
OC-E ] 1|1 BT
& Y 228 N
‘;‘ % Nm S [Y] *
’ |
3l

2480.00.24.14 short

2480.00.24.15 :

2480.00.24.13 long

extra-long
Dual adapter

2480.00.24.11 short
2480.00.24.12
extra-long
Multiple adapter

2480.00.24.10 long

I e 2xGYs *
® o O BN
i 2z i
|7 S [ [T
oo} L ool : i
5 it 5 i
52¢ e 528 i)
= x -1 < x =
: L ! J© © = FY
v &4 QO 51
L1 L1 | I [T
2480.00.23.12.01 2192.50.04.012 2480.00.23.13.
Hose clamp for gauging hose DN2 self-tapping screw Anti-scuff spiral
(&5 mm) A M4x12 DIN 7516 for subsequent installation over hoses and tubing

&
O

Note: self-tapping

Material: Polyamide

Note: Diameter of hole for self-tapping

0

Supplied without screws screw = 3,6 mm

Order No lin mm Material:

2480.00.23.13.0001 1000 Polyamide

2480.00.23.13.0002 2000 Description:

2480.00.23.13.0005 5000

2480.00.23.13.0010 10000 The anti-scuff spiral is used to
protect against abrasion,
is resistant to air, water, oil,
hydraulic fluids petrol and other
liquids.

Inner-@ 7mm

For hose/tubing

outer-@ max. 5-11 mm

Temperature range  -30 °Cto +100 °C

subject to alterations

F337

FIBRO



FIBRO

Gas spring accessories

Minimess - Compound threaded joints

2480.00.24.53 horizontal, long
2480.00.24.54 horizontal, short Q Q

Double adapter
—g—— 42 long G/s
26 short
N it B I
= T 2o iy 1 ?
% 7 2 Q- b - 1 +
gt o}
n
[ & Note:
|_ " for connection of gas springs
with M6 filling connection

2480.00.24.56 vertical, long
2480.00.24.57 vertical, short Q Q
Double adapter

49 long
34 short G/s

34

M6

L L

@
>
&

—{ 510 =

N
0
55

Note:

N

for connection of gas springs
with M6 filling connection

2480.00.24.43 Q
Connection adaptor M6 - G1/g

1 Gy |

Mounting example:

— Gas spring (M6 valve)

A N J 2480.00.24.01
Gauging coupling

: B e SO st R
—t ‘k r; — SE B ‘

|
<// /////Q/ 7 ////// X

I 1 e 5
2480.00.24.43 2480.00.23.01.xxx
Connection adaptor M6 - G /s Measuring hose

F338

subject to alterations



Gas spring accessories

Minimess — Compound threaded joints

2480.00.24.30

Distributor block G 1/

3 ports

) 1
INA S

OO

3xGl/s

28 — =]

2480.00.24.34

Distributor block G 1/

4 ports

Q Q 6 ports

2480.00.24.31

Distributor block G 1/

<§>

le—— 40 H‘

40

L;‘—"
24—

Connection G /g (4x)

N G Vs (6x)
N -
N2
96,5(2x) g /Z\“\\ [~ 277
n \§{¢’C/' \>
%
&:
‘;A
—
36

&
©)
Y/
.
\&5)

6,6

OO

2480.00.24.33 2480.00.40
Distributor G 1/4 Q Q Charging adapter
14 ports L
G1/s (14x) }‘ ‘1 jr
e = == [
o ) i
I IHZNWENWNW 2NN T i INEERN
L m . \J &) &) \E ) o 1
IR WS Al
* * _ ‘ Gl/g
120 —=—113,5 ==
140
l‘ }l 40
0 I
N R~ W W Wos N )
T QOO &
T A

25

25 —=|

40

subject to alterations

F339

FIBRO



FIBRO

Gas spring accessories
Minimess — Compound threaded joints

2480.00.24.01
Gauging coupling with valve Q Q

Gauging hose
2480.00.23.

2505
252502

2T
5353335

22 =

2480.00.24.10 long Note:
11 short When installing or fitting a gauging coupling the valve must be removed
12 extra_|ong from the gas spring.

Multiple adapter with two gauging couplings

connected horizontally connected vertically

] ——— 1 " f——— ——— ‘
\ 77777 1 71 Gauging coupling . J ] | J
) C 2480.00.24.01 ‘ D] '
Gauging hose
2480.00.23.
SRS i S
. — BO] 9
u
< /an\ a—~—+| I e
& s 0 T I\
i 1 i
. 6,5
Multiple adapter 21» —
125 2480.00.24.10/11/12 o ;ZE .

F340 subject to alterations



Gas spring accessories
Compression fitting — Compound threaded joints

2480.00.10.01

Direct connector to gas spring

W

( =~
— f
2480.00.10.03 2480.00.10.10
Direct connector to control fitting Q angle connector, adjustable
(=)
SW 19 J T4
SW 14
I 11
+ $ (N B
( A = i i /'//Y/‘:
I v N ay7gu
@L___— .tﬁ * ; r__éifS§§§; / //</
i | i .ﬁ
A\l L )
— SW 12 35 S
2480.00.10.11 2480.00.10.12
T-connector, adjustable Q L-connector, adjustable
£
L] =)
SW 14 ’[ 1
1 L SW14
3 %_ ] il
3 ? [TH /// 2\ o
N ,/’ ’/jfif S [ Ll /,/‘ B
| hsszhsa L é l‘é [
T i as /
L] I N i 2 VA =
=Cn S eI
\_\ \:Q: y '\..\\,\j
N N N
sW12 ~_ N
SW12 35 \'\~\,,
35

subject to alterations

F341

FIBRO



FIBRO

Gas springs accessoires
Compression fitting — Compound threaded joints

2480.00.10.20.12.01 2192.50.04.012 2480.00.23.13.
Hose clamp for gauging hose DN4 self-tapping screw Anti-scuff spiral
(9 mm) A M4x12 DIN 7516 for subsequent installation over hoses and tubing
1
‘\{ wi i Q
*?@t i
£ Order No lin mm Material:
‘ ? Th " | 2480.00.23.13.0001 1000 Polyamide
L i} 2480.00.23.13.0002 2000 Description:
7‘ B 2480.00.23.13.0005 5000 The anti-scuff spiral is used to
‘ & 2480.00.23.13.0010 10000 protect against abrasion, is resi-
g T sta.nt to air, water, oil, hydrs_;\ulic
Li 22— Inner-0 2 mm fluids petrol and other liquids.
Material: Polyamide Note: self-tapping For hose/tubing
Note: Diameter of hole for self-tapping outer-@ max. 5-11 mm
Supplied without screws screw = 3.6 mm Temperature range  -30 °Cto +100 °C
2480.00.54.01 2480.00.10.20.
Expansion punch for hosing High-pressure hose
SW10
PSR
f PSS
by Sy C ] DN 4
34 .
Ordering Code (example):
High pressure hose = 2480.00.10.20.
length 10 m = 0010
Order No = 2480.00.10.20.0010
2480.00.54.02 2480.00.10.21
Vice jaws for holding high-pre: Hose screw fitting (female)
SW12
!
m
m
—
b %@
|
25
2480.00.54.03 2480.00.10.22
Hose shears Hose screw fitting (male)
49,5
SW10
* <
© 1l l
S
20

F342 subject to alterations



Assembly arrangenment of gas springs in servial connection
compression fitting

—
L

7 D
7, \
O oS
>/
ARG
6@
8
N2
P
&
S
é'Q
\\Q»
9’
S /)
S ) [ /
I

? @@o

Note: When installing gas springs always remove the valve from the gas spring.

subject to alterations

F343

FIBRO



FIBRO

Gas spring accessories
24°-cone-threaded Joints
(DIN 2353 / DIN EN 1SO 8434-1)

2480.00.26.03

Threaded Joint G1/s

W

*‘ M12x1,5

—¢6‘
—p4 =

‘ SW 14

j\ J <
o~ —
I —

G1/s 1M *
—{ 14 |==— 1)

1) Eolastic-Seal ED

~ 2480.00.26.04

Threaded Joint G1/a

W

~-M12x1,5

,¢6T>
-4 —=—]
0 ‘ SW 19

|29 — ]

— 12 010 |~

— -

G1/ql=—
<19 x

5

1) Eolastic-Seal ED

2480.00.26.21

Adjustable threaded joint
45°, complete

2480.00.26.22

Adjustable threaded joint
90°, complete

2480.00.26.23

Adjustable L-Coupling,
complete

2480.00.26.24

Adjustable T-Coupling,
complete

mn
=19 & & SW14  —=| 14 =t o
SWI12 —=i12 f= g SW 14 j . g JrJ:E
(\_ 19} 18] A
| | | i1 -
O O
N o £ SW 14
| A~ _sw 14 | Ig _SW 14 ‘ g¥
1 - )
2) 2)
06 =
96~ 96 96 M12x1 5J
M12x1,5 M12x1,5-= M12x1,5-= !
2) O-ring Q Q 2) O-ring Q Q 2) O-ring Q Q 2) O-ring Q Q
2480.00.26.25 2480.00.26.26 2480.00.26.27 2480.00.26.28
Adapter straight, Adapter, 90°, Adapter, T, Adapter, K,
hose to hose hose to hose hose to hose hose to hose
SW12 SW 12 SW 12
SW 12 ’+24$ (Y I I * I I * ([_77 | +
< © = ~N A = N A - N A
RSERSY +\N/ — ) f — o N o
= (] i i £y
| |
*§ -@4—= *¢4T> @4+
—{10 (=— - 06 —=| 7¢6‘—> *Q)G%
M12x1,5 M12x1,5 TMi2xLs
(2x) (3x) (4x)

O
©

o1E

o1E

F344

subject to alterations



Gas springs accessories
Connecting hoses with 24° cone
(DIN 2353 /DINEN ISO 8434-1)

2480.00.25.01.

Hose - conical seals with union nuts and O-ring (straight/straight)

A/F 14

Y

43

DN 5

* Shortest factory lengths: 140 mm
minimum bending radius R40

A/F 14

= 43

%

I_

M12x1,5

D

<

N

Q f

Dimension |, specified in the order, e.g. 765 mm, gives order no 2480.00.25.01.0765

M12x1,5

2480.00.25.02.

A/F 14

Hose - conical seals with union nuts and O-ring (90° bend/straight) 0wl -
50 zl = 43
= ]
— 3¢ S
) &
M12x1,5 Dimension |, specified in the order, e.g. 765 mm, gives order no 2480.00.25.02.0765

I*

M12x1,5

2480.00.25.03.
Hose - conical seals with union nuts and O-ring (90° bend/both ends) " -
50 z ) 50
=)
)@
AF14 ] 7 ¢ S\ [ A/F14
N f &
M . . M
|l M12x1,5 M12x1,5 A
l]*
Dimension |, specified in the order, e.g. 765 mm, gives order no 2480.00.25.03.0765
2480.00.25.04.
Hose - conical seals with union nuts and O-ring (45° bend/straight)
nl - AJF 14
62 zl 3 43
A/F14 e —4 * 0
N = = ot =
= ,,%/ ~ > 5 4 ; * 5
T N4
M12x1,5
I*
Dimension |, specified in the order, e.g. 765 mm, gives order no 2480.00.25.04.0765
2480.00.25.05.
Hose - conical seals with union nuts and O-ring (45° bend/both ends)
n —_
62 zl ® 62
A/F 14 e A/F14
‘ e T g T ‘
N = n T N &
g N =
! X M12x1,5 M12x1,5 y !
I*
Dimension |, specified in the order, e.g. 765 mm, gives order no 2480.00.25.05.0765
2480.00.25.06.
Hose - conical seals with union nuts and O-ring (45° bend/90° bend) " —
62 zl s 50
A/F 14 (=)
RN 8¢
~ / S

—

W

I'[*

Dimension I specified in the order, e.g. 765 mm, gives order no 2480.00.25.06.0765

subject to alterations

F345

FIBRO



FIBRO

Gas springs accessories
Direct connection dimensions
24°-cone threaded joint (DIN 2353 / DIN EN ISO 8434-1)

2480.00.25.12.01

Hose clamp for gauging hose DN5
(211 mm)

!

Material: Polyamide

Note:
Supplied without screws

=

2192.50.04.012

self-tapping screw
A M4x12 DIN 7516

{J

Note: self-tapping,
Diameter of hole for self-tapping
screw = 3,6 mm

2480.00.23.13.

Anti-scuff spiral

for subsequent installation over hoses and tubing

Order No lin mm
2480.00.23.13.0001 1000
2480.00.23.13.0002 2000
2480.00.23.13.0005 5000
2480.00.23.13.0010 10000

Inner-@ 7mm

For hose/tubing

outer-@ max. 5-11 mm

Temperature range  -30 °Cto +100 °C

Material:
Polyamide

Description:

The anti-scuff spiral is used to
protect against abrasion, is resis-
tant to air, water, oil, hydraulic
fluids petrol and other liquids.

Direct connection
with 45°-elbow adaptor

Direct connection
hose straight

Direct connection
with 90°-elbow adaptor
2480.00.26.22

M12x1,5

2480.00.26.21 adaptor 2480.00.26.03
46 51
‘ o — m
I T H DY / * |
! ‘:\} - y = 4 H
‘ —) . — o
\ ¥
i |-—34

Direct connection
45° hose with
adaptor 2480.00.26.03

Direct connection
with L-coupling
2480.00.26.23

P~ 8 = M12x1,5
} (2x)
mﬁ ==
W«‘:J{ L ]
! —
o
i I
46
Direct connection Direct connection
90° hose with with T-coupling
adaptor 2480.00.26.03 2480.00.26.24
37
1 8 |~ 33— M12x1,5
m —— 8 |- (2X)
—ETHEER }
o ‘ !
wn

F346

subject to alterations



Gas spring accessories
Connector system, 24° conus micro

2480.00.27.01. Min. bending radius R20 mm

Connection hose, 24° conus micro, straight on both sides (connection hose, sealing cone with union
nut and O ring)

25

o 7=

2480.00.27.01...._.1

Antikink spiral, at one end

2480.00.27.01.._..2 Bprldlvwl=26

Antikink spiral, at both ends

2480.00.27.01.

Order No I*
2480.00.27.01.0200 200
2480.00.27.01.0300 300
2480.00.27.01.0400 400
2480.00.27.01.0500 500
2480.00.27.01.0630 630
2480.00.27.01.0800 800
2480.00.27.01.1000 1000
2480.00.27.01.1200 1200
2480.00.27.01.1500 1500
2480.00.27.01.2000 2000
2480.00.27.01.2500 2500
2480.00.27.01.3000 3000

* other lenghts available in 5mm steps.

Shortest factory lengths:

without antikink protection 90 mm
antikink protection at one end 150 mm
antikink protection at both ends 300 mm

2480.00.23.13. 2480.00.23.12.01 2192.50.04.012
Anti-scuff spiral Q Hose clamp for gauging hose DN2 self-tapping screw
for subsequent installation over hoses and tubing (5 mm) A M4x12 DIN 7516

; ]
Order No lin mm Material: %
+ 1

2480.00.23.13.0001 1000 Polyamide

2480.00.23.13.0002 2000 Description: 18
2480.00.23.13.0005 5000 The anti-scuff spiral is used to

2480.00.23.13.0010 10000 protect against abrasion, is resi-

stant to air, water, oil, hydraulic
fluids petrol and other liquids.

Inner-@ 7mm . .

For hose/tubing Material: Polyamide
outer-@ max. 5-11 mm Note:

Temperature range -30 °C to +100 °C Supplied without screws

Note: self-tapping
Diameter of hole for self-tapping
screw = 3,6 mm

subject to alterations

F347

FIBRO



FIBRO

Gas spring accessories

Connector system, 24° conus micro

2480.00.27.11

Pipe for 24° conus micro
Delivery length: 1 m

Min. bending radius R12 mm
(3x exterior diameter)

E—
e
| 1000

2480.00.27.11.01

Cutting ring screw connection, 24° conus micro

SW10

f——1] —]

M8x1
—_—

2480.00.27.00.01

Deburring tool for 24° conus micro

2480.00.27.00.02

Pipe cutter for 24° conus micro

2480.00.27.00.02.1

Replacement cutting wheel for pipe cutter

F348

subject to alterations



Gas spring accessories
Connector system, 24° conus micro

2480.00.28.01

Screw connection GE-M6-24° conus micro

|

(e}
in
Y OV
o Ny J~—SW10
m
==
Ly
EERR
T Uil —swio

2480.00.28.02

Screw connection GE-G1/3 24° conus micro

—— G |~

1
LT
- 1 J—sw 14
%“ -‘_- SW 10
2480.00.28.03

Screw connection GE-G1/, 24° conus micro

=G 1/ =
* / N
(o]
—
o i
o T 3
Ty L >r—swio
[ bl b
|
BEEE
r ol SW 10

2480.00.28.14

Screw connection T-24° conus micro

SW 4
- M6
J
o | | L <
S . I
* 3\----:\"’ L r—— ] 1___-____;
2480.00.28.17

Screw connection W—24° conus micro

30

24

| 14,5

| O —|
|
I
|
|
|
e

subject to alterations

11.2014

FIBRO



FIBRO

Gas spring accessories
Connector system micro

2480.00.22.06.06 2480.00.28.15
Screw connection, GE-M6—-M6 micro for connection to gas spring with Screw connection, L—24° conus micro
divided wheel flange 2480.022. 19
T A=
Mé =4 - )
e @ ..B
I SW4 —/—— M6 |[=— SW 10
o
3o W \ i
m
T 1 I
v I/ | S' L(l
<
NS ;
SW 10 M6 é\ *
n m
T o V |
|_ ‘L, SW10
I
D
h——25
2480.00.22.18.06 2480.00.28.16
Screw connection, GE-G1/z—M6 micro for 2480.00.28.14 / 2480.00.28.17 Screw connection, K-24° conus micro
27

G1/s

S0

SW4 —=— M6 |=— LSWlO

23

~14,5 =

SW 14 J \*M6

Qi 10 |==—

45
33

‘L, SW 10

—

4;—%

2480.00.22.14.06

Screw connection, GE-G1/,—M6 micro for 2480.00.28.14 / 2480.00.28.17

G1l/s

22

r—
S

F350

subject to alterations



Gas spring accessories
Connector system, 24° conus micro

2480.00.28.25 2480.00.28.26
Adapter, GE-24° conus micro Adapter, W-24° conus micro
hose —hose hose —hose

©0
J

®
S

L
| AN
N O
w7 L 1\5W9
[ | 1l
= |
o [
Yy 00 _;_J\ Sw 10

2480.00.28.27 2480.00.28.28
Adapter, T-24° conus micro Adapter, K-24° conus micro
hose —hose hose —hose

30
42
Q ’ O L
[ 1 :
r-———4F—v ik | Bataiuh] :- =420
; y ; ;
A el et
] T ] 1 S o 77: :Ifa -1 S o~
|| oy H — 1 [ \ ) m <
: ! T : ¢ ~ :\777 - — | Sp— 7771‘I
: | ) Voot [P 7
[ 1 :
o B i ¥
SW 10— 1] i P
1 I I :
swi0— 1 i | 1
2480.00.28.34

Distributor block M6, 4 ports
T 7 )
|

Q 96,6 (2x)

12
M6
("
N

=

30
18
i
i
=

e
-/

subject to alterations F351

FIBRO



FIBRO

Micro control fitting
without pressure relief
with pressure relief

Description:

The micro control fitting 2480.00.34.11/13 is
used to constantly monitor the charge pressure
of one or more Gas Springs (3x5 connections
M6, top, bottom, back and 1x at the side).

Note:

* 2 m long filling hose with rapid coupling, shut-
off valve and gas bottle connector
Order no: 2480.00.31.02 (to be ordered
separately)

2480.00.34.11 without pressure relief

2480.00.34.13 with pressure relief

Rapid coupling for

nitrogen supply *

W
5

Pressure gauge dial 0-400 bar / 5800 psi

Bleeder valve

)

.
&l

| 47—»

Fixing hole 7 (2x)

\Pressure relief

M6 - Connections

M6 at the side

—

164 19¢ 194 19

(5in the top, 5in the back and 5 in the base)

13—

A

o T T T,
§ poougy {

D |
e

!
$

!

m
&

D

80

|~— 45—

19 ‘* Mounting holes @7 (2x)

F352

subject to alterations



Control fitting for gas springs

2480.00.30.01 without pressure switch, without pressure relief
2480.00.30.02 with pressure switch, without pressure relief
2480.00.30.03 without pressure switch, with pressure relief
2480.00.30.04 with pressure switch, with pressure relief

120 :‘_ 89
e o N
e\ + N
N HIEA i re 1)
T\ Jseer =
L = T

—

A
o

pressure gauge shutoff valve

T 10
L

L
/ H
/
30 B

—

~—173

\ 150

fixing hole DIN 74 - Km 8

pressure gauge dial

connecting port for diaphragm
pressure valve 2480.00.45.01

/\@F &\ % Threaded connection G1/4
|>Z|’Hf"_‘” é \u for gauging coupling (8x)
Q g\ rapid coupling nitrogen supply*
[l
— bleeder valve

Description:

The control fitting 2480.00.30.01/02/
03/04 serves to control the charge presure of up
to eight connected gas springs.

Pressure checks during operation can be effec-
ted in two ways:

a) by visual monitoring of the gauge dials.

b) automatically, by means of diaphragm
pressure switch 248.00.15 The switch will
stop the associated machine as soon as the
charge pressure drops below the value set.

Note:

The shutoff valve may be open or closed during
operation.

The closing of the pressure gauge shutoff valve
ensures that no pressure peaks from the gas
spring act on the pressure gauge.

*2-m long filling hose with rapid coupling,
shutoff valve and gas bottle connector, Order
No. 2480.00.31.02
(to be ordered separately)

2480.00.31.01 without pressure switch
2480.00.31.06 with pressure switch
2480.00.31.07 without pressure switch and with pressure relief

Threaded connection G1/4 for gauging coupling (2x)
2480.00.24.02
or connector 2480.00.10.03

Q or diaphragm pressure switch 2480.00.45.01

[ |
\\J A ? ! _/éé H
NN & & ey
N A T
Q | i
9» ‘<— —— 27 = 91
pressure mounting holes g7
gauge dial
—1 26 75
! el
5 TN 1 N connecting port
— O connecting port
© (1) or diaphragm
© Lol pressure valve
AT L 2480.00.45.01

bleeder valve

rapid coupling for
nitrogen supply*

Description:

The control fitting 2480.00.31.01 performs
the same function as the control armature
2480.00.30.01.

Note:

* 2-m long filling hose with rapid coupling,
shutoff valve and gas bottle connector, Order
No. 2480.00.31.02
(to be ordered separately)

subject to alterations

F353

FIBRO



FIBRO

Control fitting
without pressure switch,
including pressure relief

2480.00.30.13 without pressure switch, with pressure relief

Bleeder valve

86

@
N

Rapid coupling

2480.00.30.13

deep

917 x11

127

|
91l

??mg

A
W7

)&

¢=

for nitrogen supply

Threaded connection for

lie

|

o

U

gauging coupling G1/s (3x) 2480.00.24.01 or
connector 2480.00.10.01

©
W

|_Pressure gauge

dial

Control block

[
i
|

e
Threaded connector

%h6 -18 UNF

N

©

@’ Description:

T The control fitting 2480.00.30.13 is used to
constantly monitor the filling pressure of one or
more gas springs. The control fitting is equipped
with rapid coupling for nitrogen supply and

a bleeder valve. There are three G/; ports for
simultaneous pressure checking at the control
fitting.

Measuring range from

—~
=

G

0-400 bar /5800 psi.

F354

subject to alterations



Multiple control fitting

2480.00.39.05. Multiple control fitting

Rapid coupling

for nitrogen supply

© O .
ﬂjzz,l

22,1 |~

60
86

D
& O
~
B \N
N
1
Shut-off valve Bleeder valve
Number of
testing units
Connection thread G1/8
l1
n
o~
o
21
~ <
(o)} ()]
Pressure gauge dial
0 to 400 bar
Description: 2480.00.39.05. Multiple control fitting
The multiple control fitting is required if it is necessary to check or set the
filling pressure of each spring or spring assembly individually.
The filling of the springs is done at a central position using the rapid cou- Order No Quantity of testing units | Iy
pling for nitrogen supply. Each testing unit is provided with three threaded 2480.00.39.05.02 2 1335 44.5
connections for the optional hose connection. 2480.00.39.05.03 3 178.0 89.0
; ; 2480.00.39.05.04 4 2225 1335
Th h | .
e cover protects against mechanical damages 480.00.39.05.05 5 2670 1780
2480.00.39.05.06 6 3115 2225
2480.00.39.05.08 8 400.5 3115
2480.00.39.05.10 10 489.5 400.5
subject to alterations 12.2014

FIBRO



FIBRO

Control fitting with pressure relief

2480.00.31.11

&

Bleeder valve

Adapter connection M16

(connection to gauging hose 2480.00.23.,
gauging coupling 2480.00.24.01 to be ordered separately)

=HPS 2 L/
T | 14
/ o] o ; | § \
| —— N lg) T \\Q ]
L » |1
[F‘ ) 4 ) @ -
| .
i ! 2 | H—
b ] ez s
Rapid coupling for —= 6 = = 266 (4) __| 6= 40
nitrogen supply* |l 26— 85
70

=y

-

L

Pressure relief

Pressure gauge dial

)L
/)

Description:

The control fitting with pressure relief 2480.00.31.11 (Faure) is used for
continuous monitoring of the filling pressure of one or more gas springs
(one connection G1/g-M16).

During operation the pressure can be checked by visual monitoring of the
pressure gauge.

Note:

To connect the measuring hose system 2480.00.23, remove M16 connecti-
on adapter and screw in the gauging coupling with valve 2480.00.24.01 (to
be ordered separately).

When installing gas springs always remove the valve from the gas spring.

* 2 m long filling hose with rapid coupling, shut-off valve and gas bottle
connector, Order no. 2480.00.31.02 (to be ordered separately)

F356

subject to alterations



Stacked control fittting for individual control

end plate

S

2480.00.39.01
bleeder valve
00 ==
Q\

pressure gauge
shut-off valve

40—

Q@ DO

. U F ﬁ
pressue gauge dial /’ﬁ‘\'{j v

S

VLS
IS

N

\%

e Te O 2| o+

N

101
115

single armature

module

charge shut-off
valve

——2A47 47

mounting bracket | connection G */a in shut-off valve block

47

(floor) | / (1 x horizontally, 1 x vertically) L
7 | 1 [ | [ 1 <l &
< lolelelel I—
D\ e\ N\ 2V 7
IR JAS JAN JAN ‘
o <
a aVaa ¥
~ =l : : : D

rapid coupling for nitrogen supply

2 m long filling hose with rapid coupling, shut-off valve and gas bottle
connector, Order No. 2480.00.31.02 (to be ordered separately)

Description:

Stacked control fittings are required where it is necessary to control the
charge pressure of each gas spring individually. The fitting models can be
stacked together ad libidum.

Recharging of any to the spring units connected can be effected centrally
via the rapid couplings and the appropriate charging valves. Each stack is
equipped with an input end plate with rapid coupling, and an end plate
sealing off the opposite side. The number of armature modules depends on
the number of gas springs in question. The stack can be supplied for wall
mounting or for installation on the floor.

Note:

When all charge valves are opened the springs are interconnected with one
another.

Ordering Code (example):

Stacked control fitting

2480.00.39.01.

mounting bracket
(wall)

5 modules = 005.

with floor-mount = 1

with wall-mount = 2

Order No =2480.00.39.01.005.1 or 2
subject to alterations 02.2015

FIBRO



FIBRO

Diaphragm pressure switch

Adapter block

Screw connection GE-G1/3-G1/,

2480.00.45.01
2480.00.45.02

Technical data of
Diaphragm pressure switch

2480.00.45.01
switching range, adjustable 20-250 bar
switching tolerance +5.0 bar
overpressure protection 350 bar
voltage (max.) 250V
2480.00.45.02
switching range, adjustable 10-80 bar
switching tolerance +1.6 bar
overpressure protection 350 bar
voltage (max.) 250V
m
r (LA
t Note:
A for monitoring pressure of single gas springs
A see adapter 2480.00.45.10
g » o Circuit diagram for
— 4 G L * diaphragm pressure switch
Gl 2
— P
L Loy —
=/ oA
2480.00.45.00.01.18.14

2480.00.45.10 Q Q

switch connection port

membrane G1/4

Screw connection GE - G /- G 1/, for
Control fitting with connection thread G 1/,

valve connection
port G1/s Gls

O > o !
/fJﬁ * ﬁfL\\\ <Ar i <
b1 b VT | N
| T AN
434J |~ 40— A/F19 GYs
hose connection port G1/4
Installation example: Description:

,,ﬁ‘L,ﬁ. diaphragm pressure

‘ switch
2480.00.45.01
2480.00.45.02

= connector
L'*""*’T 2480.00.24.02
,f,,‘,,f,j
‘ hose
‘ 2480.00.23. ...
I J'/ '
,,,,,,
connector

2480.00.24.01

In conjunction with diaphragm pressure
switch 2480.00.45.01 or .02, the adapter
2480.00.45.10 permits the monitoring of
the charge pressure: if the pressure drops
below a set value, the diaphragm

pressure switch operates and emits a signal
or stops the machine.

adapter
2480.00.45.10

valve
connecting G1/s

F358

subject to alterations



subject to alterations

F359

FIBRO



FIBRO

Gas spring with male fixing thread, POWERLINE
Mounting variations

©

2480.00.51.05

Box spanner for assembling/disassembling
of gas springs

W

Mounting examples:

7

i
%7

F298

subject to alterations



